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1.  

2. t 3RTQt 3TtT9T *I  31'P9IcP. 1 M-I_ 5T * f 111'JI 3Tff c  ?rTIIT '31— I 

eiq"l i) f5u ilIII 3ft 3'1ct 'I iT <ii I 

3. !'icc1, (4qIc \1 M1 

T  'i  ti fr 1' 31T'I *I  ZIT 3fT1 19$Ic * 3 3TT c1Ie l m cpI 
f f_Lq' T9T ct)IQ1I 5I 

4.  
T .z1T I 

5. T9 ,Rcicpi sl r f c -j' ITT3* I fi (f/&) * 
u 

6. [ictI *ci ic jcpc     Tti 

11cPI cP  cpl?1
, ft 11T5 tficp' 'd) '1ki It TTtT ,RdcPI Wc1 

7. 1iici rciu1 i1L.  

c1I RE f '1T 4R'lcl   qu. 1lI '1III I 

(i) WT   zii' [cp  I -41I' jI f  1~ Tt p IIc1 '1' * lii WM 

 fizri fLi T1 3 [ cl'IeI i1III I 

(ii) cp cl T 3T1Th5 't1' c1I *, icici 'i'( ITT1 'ilIII, 11 RL TT  \31'f 

'.31 1cii *, 4t -i i 1IL cI1I'i c1' T5T qu  1lI 'i1III I 

(iii) i1; j41ccii kI C1 t9 ec1 '-t f5Z1T MIc1I t 1 I'I iri' '-i 1iI '-'liclI t, ?1 'd*1 11 

f )'  4U  91 1I 'iIIIl I 

iT 3lIIct 7 94jU 1icpi '1Qi 9 q'I 1T 9 ' I 

Note: English version of the instructions is printed on the back cover of this Booklet. 
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1 Which among the following (Provision — Part of 

the Constitution) is not correctly matched? 

(a) The Union Territories — Part VIII 

(b) The Scheduled and Tribal Areas — Part X 

(c) Tribunals — Part Xl 

(d) Official Language — Part XVII 

2. Match list-I with list-li and select the correct 

answer using the code given below the lists 

List - I 

(A) Article — 324 

(B) Article — 315 

(C) Article — 280 

(D) Article — 338 

List - II 

(1) National Commission for Schedule Castes 

(2) Finance Commission 

(3) Public Service Commission 

(4) Election Commission 

Code - 

1. 

1TTr) Rici if ? 

(a) -j 'I.Y'.I — 1TTT  VIII 

(b) 1ci 3Th \sNrII1 — 11T X 

(c) 3Tft'XE 0T — PT XI 

(d) TflITT — IFT XVII 

2. I —il 1ci c1H iT 1i'i 

(A) tkc — 324 

(B) tc — 315 

(C) tc  — 280 

(D)31tkc — 338 

u — lI 

(1) Itk 1cl 3T11t 3tRftT 

(2)  

(3) c'I)cp cfl 3:IT?pT 

(4) Pi1ti.i &rthTr 

cc, — 

(a) A-(3), B-(2), C-(4), D-(1) (a) A-(3), B-(2), C-(4), D-(1) 

(b) A-(4), B-(3), C-(2), D-(1) (b) A-(4), B-(3), C-(2), D-(1) 

(c) A-(3), B-(2), C-(1), D-(4) (c) A-(3), B-(2), C-(1), D-(4) 

(d) A-(1), B-(3), C-(4), D-(2) (d) A-(1), B-(3), C-(4), D-(2) 

3 Consider the following events and arrange these 

in correct chronological order starting from the 

earliest to the last activity — 

(I) Appointment of the Drafting Committee 

(II) Indian Constitution was adopted and enacted 

(ill) Date of commencement of Indian 

Constitution 

(IV) Constitution Assembly first met 

Select the correct answer from the code given 

below— 

Code - 

(a) III, II, I, IV (b) I\i', I, III, II 

(c) I, II, IV, Ill (d) l\/, I, II, Ill  

3. IR1cI 1-1I3I1 tR IItH F'ji T 

cPIcI,ctf rfi cc  

31I[ i11l1i cicp — 

(I) IJ qc 

(II) -iidl f11Ti cp'1 34)ccj a11 3I1T 

(III) ili 4f1T[ * rr  t ff 

(IV) rITT 1T  TN t3f5 

fT9ct- 

(b) IV, I, III, II 

(d) IV, I, II, III 
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4. Given below are two statements, one is labelled 

as Assertion (A) and other as Reason (R) — 

Assertion (A) — The President can recommend to 

the Parliament to change the 

boundary of any state after 

seeking views of the concerned 

Legislature of that state on the 

subject within specified period. 

Reason (R) — It is not mandatory for the President 

to accept the proposal of the 

concerned State Legislature. 

Select the correct answer using the code given 

below- 

(a) Both (A) and (R) are true and (R) is correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not correct 

explanation of (A) 

(c) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

With reference of the election of the Vice — 

President of India, which is declared void by the 

Supreme Court of India, which of the following 

statement/s is/are correct? 

(1) The acts done by him as Vice — President 

before such declaration are considered valid. 

(2) The acts done by him as Vice — President on 

the day of such declaration are not considered 

valid. 

Select the correct answer from the code given 

below - 

Code - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

6. Who among the following is the first women 

Speaker in Lok Sabha? 

(a) Pratibha Patil (b) Urmila Singh 

(c) Meira Kumar (d) Sushma Swaraj 

7. Which one of the following pairs (Schedule 

Subjects) is not correctly matched? 

(a) Third Schedule — Forms of Oaths or 

Affirmations 

(b) Eight Schedule — Languages 

(c) Ninth Schedule — Allocation of seats in the 

Council of States 

(d) Tenth Schedule — Provisions as to 

disqualification on ground of defection  

4. ct' c9(A) 

c -j t') cPi'i (R) cti * — 

3TI9 (A)— f5 m c 

R-iqiRi   cp (1l t 

 fT 'IRI ti1ii 
11T99T TT \3d 

1I1 'R Ritik L4 I-r:f 

tR I'cl cl  *1 

 (R) — it{ cP'l '3 i's f T99T F51 

c1Ic1 I'i.1! 3P!c4R 9T I 

4t f  c — 

(a) (A)3 (R) cH  3* (R),(A)c 

c.4Ij ccTI * 

(b) (A) 3it (R) c' i'i '1c4 * f5J (R), (A) 1t 

c414l 

(c) (A)  * f5; (R) tr'lc1 * 

(d) (A) Ic'lc1 * (R) 1c-1 * 

I41 tI 11izM, f 
1IL4Ic RT T -ii1ci f51T ii *, 

PI'i cP'l T/ 2T9 */*? 

(1) -t 4cfJ  c 4')t(JII 

\31c RT ct)ILf HN-I '1  * I 

(2) 3Iq1   c) uij  

\1C TT f5  4RIII 9I.-4 9 

*1 

- 

(a)  1 (b) cpc  2 

(C) c')-i) 1?[Tt 2 (d) r 1H 2 

6. i-i1ii ct ci *? 

(a) 1;rfTT[ (b) Ij f 
(c) (d) FTfl c1''Jl 

7. f 
— f) 1ci 91 

(a) cik 3yT  — I'l2T ZIT  

(b) 3IT 3j1z) — 

(c) .ici — cl,I 31lcic'1 

(d) -  14Rc1..l 

1ci1 
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8. The Constitution of India initially permitted the 8. iIci rrr m'r irf fr rI 

use of English language for all official purposes cI') '3   3tU5ft 1T1 T 3ThI fi 

for a period of - t 

(a) 5 years (b) 10 years (a) 5 ci (b) 10 c 

(c) 15 years (d) 20 years (c) 15 c (d) 20 c4 

Given below are two statements, one is labelled r 1T9 *, l -1 'cf ct) 3f5Ff (A) 

as Assertion (A) and other as Reason (R) —   (R) cI iii t — 
Assertion (A) — The President is a part of the _______ 

3[ (A) —   cM ITTT l 
Parliament. 

cuI (R) — i'-ii TT TfU rT 
Reason (R) — A bill passed by the two Houses of 

the Parliament cannot become a iiRi cf  ii1 * ft9T cP11 91 

law without the assent of the I 

President. ______ f Cb 5T 'iY4II cc 

Select the correct answer using the code given 

below - 

(a) Both (A) and (R) are true but (R) is not correct (a) (A) 3fr (R) c -i  ft (R), (A) cf Tt 

explanation of (A) c1I 

(b) Both (A) and (R) are true and (R) is correct (b) (A) (R) Ci  3ft( (R), (A) c1 

explanation of (A) 211Q3L11 ctc1I t 

(c) (A) is true but (R) is false (c) (A)  t (R) cc1 

(d) (A) is false but (R) is true (d) (A) 41c'lcl fj (R) HcL1 * 

10. With reference to Union Finance Commission, 10. [Ef f 3{I4TT iIici 

which of the following statement/s is/are 

correct? (1) f &'-r 
(1) Finance Commission has a Chairman and six   _____  

(2)  3{T9T 111Ic'I 4tRt wfrT ct cAc1 cb'c11 

members. 

(2) It submits its report to the NlTl Aayog.
CM 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 2 (b) Both 1 and 2 (a)  2 (b) 1 c1 2 c'l -t'l 

(c) Only 1 (d) Neither 1 nor 2 (c) cc  1 (d) r 1 1 rr t 2 
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Consider the following statements concerning 

the powers of the Supreme Court to issue certain 

writs to stop violation of Fundamental Rights — 

(1) The Supreme Court has power to issue writs 

like Habeas Corpus, Mandamus, Prohibition, 

Quo Warranto and Certiorari which is 

appropriate for the enforcement of 

Fundamental Rights. 

(2) Parliament may by law empower any other 

court to exercise within its jurisdiction the 

powers given to Supreme Court. 

Which of the above mentioned 

statement/statements is/are correct? 

Select the correct answer from the code given 

below— 

Code - 

(a) Both 1 and 2 (b) Only 1 

(c) Only 2 (d) Neither 1 nor 2 

12. With reference to the Attorney General of India, 

which of the following statement/s is/are 

correct? 

(1) A person is appointed as Attorney General, 

who is qualified to be appointed as a Judge of 

the Supreme Court. 

(2) The Attorney General can be removed 

through the same process as the Judges of 

the Supreme Court. 

Select the correct answer from the code given 

below 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

13. With reference to the composition of the 

Legislative Council in a state of India, which of the 

following statement/s is/are correct? 

(1) In the Legislative Council there may not be 

more than one-third members of the total 

membership of the Legislative Assembly of 

that state. 

(2) The Legislative Council of a state must have at 

least forty members in it. 

Select the correct answer from the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

11. vrç14- -I"-Hc'i'.1 ci, u1it. 3115fT if 

(1) tC1c11 - I-lIc'1-1 Cf)')  4E TfM rr * fb c 

,4ç.JcfrUI, q9ii, 1ET, 3ffiEf5T — 

T 3 R,   3f1T5Pt 

c1It. ri  * 1 r,  
ct  

(2)  cj  31E5T * Rb c  crI-1 €l c  

1 L] I l ct 3ItF?T &rfwrftT5 
\jVt49 iic  1t cfl -f 

11 ctv ' -IctclI *1 

\31 3i'c TT 

f Tt  

- 

(a) 13ft 2q'k (b)  1 

(c) cc4cl 2 (d)  ci') 19T ) 2 

12. -p H1IIcfl k 1IRIc1 

(1) IiIIc) 

')i1, jui Rb 'd•2t1cl 1I1 ci LI 15T 1P[1 

&fl 

(2) VLIILIcII4) ct) -i  q 

cLII 3IT .icclI * Rb rcI -LIlLIIciLI 

1ct)I 

C — 

(a)  1 

(C) c)-?i 1TT[ 2 

(b) cci 2 

(d) f cli 19T ) 2 
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14. With reference to the representation of Uttar 

Pradesh in Parliament, which of the following 

statement/s is/are correct? 

(1) Uttar Pradesh has 31 seats allotted for Rajya 

Sa b ha. 

(2) 80 members of Lok Sabha are elected from 

Uttar Pradesh. 

Select the correct answer using the code given 

below— 

14. . 'c1 fT k 

i1iici c) T1 */? 

(1) i'.r 91T[ 3l cf  31 {c1 

(2) c'lct1lT 80 lc i.( {ici1Fi 

 *1 

'3i 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

15. With reference to the post's in Secretariate of the 

Parliament, which of the following statement/s 

is/are correct? 

(a) 

(c) 

 - 

1 (b) 

(d) 9 

1c'l 2 

1 1 1T 2 '1 -ti 1[U 2 

15. 4E4 k f 

(1) c- lcl,  1f 1Iicic fp 
(1) Common posts may be created for the 

Secretariate of each House of Parliament. IIçj q c IIc1 fT IT c1I * I 

(2) The Parliament has right to regulate the (2) T'-k ct) 3Tq f5 Hc'1 f1lclic'l4! 

service conditions of Secretariate staff of 

either House of it. 

¶ ct -cI4 11I  RiP1.i1ci cb j[ 

3Iir it *1 
Select the correct answer from the code given 

below— 
I9ctu1- 

Code - - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

16. Which of the following statements is not true 

regarding 'Gram Sabha'? 

(a) it has the powers and functions at the village 

level, like state Legislature has at the state 

level. 

(b) Its powers are determined by the Central 

Government. 

(c) It is a Village Assembly consisting of all 

registered voters in the area of Panchayat. 

(d) (a) and (c) both 

17. All elections to the Panchayats are conducted 

by- 

(a) State Legislature (b) State Election 

Commission 

(C) Election Commission (d)  Panchayati Raj 

of India Commission 

(a) ccj 1 (b) ci;ciei 2 

(c) c')j' 192.11 2 (d) 9 1 IT ) 2 

16.  52T 4I91' cfjj 

9 

(a)  5R 3Th i1kii .n'-t  tR 3?t  

*  

*1 

(b) m frai1cui c? -cl t<cp1' 

RT ')c1I ti 

(c) q .fli-j  * '4tWc1 

9'1-ft LNlflcpci 9cIcIc1I i1Rici  * I 

(d) (a)U21F (c) c.-1') 

17. <i'-i'-ci ci'I '1zIci.1 ctc1J * — 

(a)  q-nR1cfl (b)  Pzi-t ,31T?itT1 

(C) RT9 T5T Ilc1Itfri (d) ____ 

U1T 
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18. With reference to the recommendations of the 

Ashok Mehta Committee (1977) on Panchayati 

Raj, which of the following statement/s is/are 

correct? 

(1) The three tier system of Panchayati Raj should 

be replaced by the two tier system. 

(2) A block should be the first point for 

decentralization under popular supervision 

below the state level. 

Select the correct answer using the code given 

below — 
Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

19. The resignation letter by a Judge of Supreme 

Court is addressed to - 

(a) The Chief Justice of (b) The senior most 

India Judge of Supreme 

Court 

(C) The President (d) The Prime Minister 

20. Which of the following is not a part of the 

Article 20 of the Constitution of India? 

(a) Prohibition against (b) Double Jeopardy 

Self Incrimination Clause 

(C) Prohibition Against (d) Ex-post Facto Law 

Torture 

21. Which of the following Provision is a part of both 

Directive Principles of State Policy and 

Fundamental Duties? 

(a) Guardians to provide opportunity for 

education to children 

(b) Protection of environment 

(C) Participation of workers in management of 

industries 

(d) Uniform Civil Code 

22. With reference to the joint sitting of Parliament, 

which statement/s is/are correct? 

(1) Article 109 provides for the joint sitting of 

both Houses in certain cases. 

(2) The Speaker presides the joint sitting of the 

two Houses of Parliament. 

Select the correct answer using the code given 

below — 
Code - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

18. .1ILIc) Iii tR 3rm5 'IT 1l1 1ci (1977) 

ftiR  * t'4 , irr 

(1) qz1lLld) 'I'il ci *cI &1?RU ThT 

i -1 T1T 14 l I I 

(2) i's *ci 1T?TUT S{U. cb'1 

CPI T Th1I 'iii'li tiiF I 

1 f   q z'l — 

- 

(a) c)cIc'j 1 (b) cbc4el 2 

(C) c'I-i'1 1TTT 2 (d) 1  c1) 1T 2 

19. - IIk14 l.cb ITtT 'I cIfl--1{ 

i6ilIIci lcII t — 

(a) (b) 

irc) 

(c) c' (d) 

20.  

31t4 20 cI 1ii Tf *? 

(a) 1;i b) c q1) II 

(c) ç-- f(d) cIcl  fI1f 

21. Ict) iT 

4'1I1cb cbc ci cI lct,  TPT 

(b) q c u 

(c) I'i t 4cti'l cI ITT cHI 

(d) -19I-i iitRp {c1I 

22.  

(1)tt cp   c) li'1 ri1 1 

cç1 

(2) )I'( Icl' ) ct'1 m 3T2T1T 

cPclI 

(a) jcj 1 (b) cjcIj 2 
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23. With reference to the invaders in ancient India, 

which one of the following is the correct 

chronological order? 

(a) Greeks — Sakas Kushans 

(b) Greeks — Kushans — Sakas 

(c) Sakas — Greeks — Kushans 

(d) Sakas — Kushans — Greeks 

24. 'Milind Panho' is in the form of a dialogue 

between King Milind and Buddhist Saint. The 

concerned saint was - 

(a) Nagarjun (b) Nagbhatt 

(C) Nagasena (d) Kumaril Bhatt 

Charak Samhita is divided into how many 

chapters and sections? 

(a) 120 chapters and (b)  100 chapters and 

8 sections 5 sections 

(c) 80 chapters and (d) 60 chapters and 

7 sections 8 sections 

26. Which officer was known as 'Bhagadugha' during 

Vedic administration? 

LI 
'C 
C 

(C) Chief Officer of the (d)  Revenue Collector 

Gambling 

Department 

27. Match list-I with list-Il and choose the correct 

answer using the code given below the lists —  

23. lIt'H C)ftj IT t 31Ici1UI') HT 

if1f(1 1T L()  T1 c ç çp ? 

(a) rII. — — clul 

(b) -ii'4 — ci 4101 — 

(c) — — cptflUI 

(d) jc — — 

24. Th1 T1 i'rH {Ri-c 1T cb 

1 I — 

(a) -iini -j (b) ppj 

(C) iiiH (d) c{  

25. z1cii 

(a) i 20 3TZ1TT 8 jg (b) 100 3T - TR1 3ft 5 

(c) 80 3T1ITr 3 7 (d) 60 T21TT 3t1 8 

26. ctiIci c-j ? 

(a) - jcij clIclI (b) 'jlftl') ci rrrr 

c1 3Tf1T 

(c) Cl')I T1T1 (d)  l9l Ct) 

ci ki I 

27. c — ll fT C[ TT 

iI c 

25, 

(a) Messenger (b) Chief Officer of 

Forests 

List—I List —Il 

(Archaeological site) (Present location) 

(A) Nevasa (1) Rajasthan 

LI 
(C —ll 

(lctI1c4ct ) (lcIlI'-1 1Fr) 

(1) (A) .1cliT 
(B) Isampur (2) Tamil Nadu (B) (2) ci1kiii 
(C) Didwana (3) Maharashtra (C) )clN1I (3) ikl 
(D) Gudiyam cave (4) Karnataka (D) 19 qsT (4) cfrikc 
Code - C 

CI 
(a) A-(3), B-(4), C-(1), D-(2) 

(b) A-(4), B-(3), C-(1), D-(2) 

LI 
CC 
C 

(a) A-(3), 

(b) A-(4), 

B-(4), C-(1), 

B-(3), C-(1), 

D-(2) 

D-(2) 
(c) A-(3), B-(4), C-(2), D-(1) 

(d) A-(3), B-(2), C-(4), D-(1) 
(c) A-(3), 

(d) A-(3), 

B-(4), C-(2), 

B-(2), C-(4), 

D-(1) 

D-(1) 

28. Eastern boundary of the Harappa culture is 

indicated by whicl of the following? 

(a) Harappa (b) Alamgirpur 

(c) Rakhigarhi (d) Manda 

28. fiRici r j  

Ti 

(a) uj 

(c) I)Ic) 

t jçj 

(b) aiici4'k 

(d) ju 
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29. With reference to the Puranas, which one of the 

following statements is correct? 

(1) Information about the Mauryan dynasty is 
found in the Vishnu Puran. 

(2) Vayu Puran throws light on the Gupta's 

governance system. 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

30. Which of the following pairs (School of Thought 

Proponent) is correctly matched? 

(a) Vaisheshika — (b) Mimansa — Kanada 

Patanjali 

(c) Nyaya — Gautama (d). Uttara Mimansa — 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

32. Who was 'Khareetadar'? 

(a) Despatcher of royal (b) Main custodian of 

decrees royal palace 

(c) Chief Officer of (d) An officer who was 

Parga na trained in keeping 

accounts 

33 Match list-I with list-Il and select the correct 

answer using the code given below the lists — C 

List—I Lc 

Book 
(A) Mirat-e-Sikandari 

(B) Burhan-e-Masir 

(C) Riyaz-us-Salatin 

(D) Riyaz-ul-insha 

List — II 
Context 

(1) History of Bengal 

(2) History of Bahmani's Ahmad Nagar 

(3) Collection of Mahmood Gawan's letters 

(4) Victory of Gujarat 
Code - 

(a) A-(4), B-(2), c-(1), D-(3) 

(b) A-(2), B-(4), C-(1), D-(3) 

(c) A-(1), B-(2), C-(4), D-(3) 

(d) A-(4), B-(2), C-(3), D-(1)  

29. ujf , iRi1ci 9t 

? 

(1) 1w rur 'iI!1cP!') Theic!i) ti 

(2) c1I, Tt1T c1 cI cf'1 IIt'1 11T R 1cPit 

IQ1c1I ti 

(a) c5c  1 (b) cicici 2 

(C) c)-I' 1IT 2 

30. Flf1Ic1 •t ct;'l.-i n-l-  ii (qi'-i — 

) ij1ici *? 

(a) 1cpi — ycj'.sjRi (b) 4l41i1I — CtUc1 (cprtc) 

(c)  —  (d)  4liii — 

c4.1 i1iIci T91 

(1) ci  1611 T' 9J — I * cc1 * 

&rz1Tl 

(2)  cl 9TT 5T tf 3TT 1IciI T I 

(a) cjc,l 1 (b) cCkj 2 

(c)q'1T2 

32. '1ciici' cf)..j  .TI? 

(b)  T T1T 
45 

(d) &tn 
ii—fbciii 

wtr 'ku 2.1T 

33. 1t—1 cp'1 1—ll ct[T' TT 
 Te 11- 

1cl 

(A) i--Ric- 

(B) I1—1-41i1 

(C) iii—i—ieiiRi'i 

(D) I'.l—'cl— Ii 

(1) 6iIIf Wr 1i'i 

(2) €i 31jg.-lI T Rii 

(3) 5Tt 

(4) 1Ici {l'.ii 

(a) A-(4), B-(2), C-(1), D-(3) 

(b) A-(2), B-(4), C-(1), D-(3) 

(c) A-(1), B-(2), C-(4), D-(3) 

(d) A-(4), B-(2), C-(3), D-(1)  

'-.1 

Kapila 

31. With reference to the Captain Hawking's, which 31. 

of the following statements is correct? 

(1) He came to India in 1611 as an envoy of 

James — I. 

(2) He was very well versed in Turkish language. 

(a) qiiii'j r twk 

cileji 3T1T15Tt 

(c) i -n 5T 1& 
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34. Which of the following is not correctly matched? 

(a) Iltutmish — Father of Razia 

(b) Shah Turkan — Wife of lltutmish 

(c) Hamida Banu Begum — Wife of Allaudin Khilji 

(d) Gulbadan Begum — Daughter of Babur 

35 Consider the reign of following Peshwas and 

arrange them in chronological order — 

(I) Balaji Viswanath 

(II) Bajirao I 

(Ill) Narayan Rao 

(IV) Madhav Rao I 

Select the correct answer using the code given 

below— 

Code - 

(a) I, Ill, II, l\J (b) I, II, Ill, l\/ 

(c) II, , l\.f, Ill (d) I, II, I\J, Ill 

36. Which among the following ruler of Kashmir 

abolished Zaziya and Cow Slaughter? 

(a) Shamsuddin Shah (b) Sikandar Shah 

(c) Zain-ul-Abidin (d) Haider Shah 

Who among the following translated 300 

volumes of Sanskrit books collected by Firoz 

Tuglaq during the campaign of Nagarkot? 

(a) Azizuddin Khan (b) Talib Amuli 

(c) Mulla Abdul Baqi (d) Mirza Muhammad 

Ali 

38. Tappa style of music was refined and developed 

in which of the following Mughal Emperor's 

Court? 

(a) Akbar (b) Jahangir 
(C) Shahjahan (d) Muhammad Shah 

39. Which of the following (Poetess — Compositions) 

is not correctly matched? 

(a) Daya Bai — Vinay (b) Sahajobai — Sahaj 

Malika Prakash 

(c) Gangabai — Ganesh (d)  Son Kumari — Poem 

Dev Leela of Swam Beli 

40. Which one of the following (Place of the revolt of 

1857 — Start of rebellion) is not correctly 

matched? 

(a) Barrack — 29 March, (b)  Meerut — 10 May, 
1857 1857 

(c) Lucknow —4 June, (d) ihansi — 11 May, 

1857 1857  

3'L i1iRci   9T {cl i  
(a) cci1I — TT 

(b) —   c  tR4 

(c) 1TT — Me1l\31-1 c1C c11 tT 
(d) — 

35. i1iRi rrrrf z lk1l cfjf tR R!tii' ITIII 

1T cl'lc'lc Il cRT — 

(I) 1k'iIs) 1cfr1lT 

(II) !ii1l'lcl I 

(Ill) iiii'i 'lcI 

(lV)TTr1Er 'lcl I 

q \e — 

36.  

(a) Ill II, I') 

(C) II, I, l\f, Ill 

(b) I, II, Ill, IV 

(d) I, II, IV, Ill 

iRIRld c4 
3 Tft 1T q)

\ .< 
IHc jl1llI 

J 'd 

(a) T1 (b) {c iig 
(c) ' - el 31c -1 (d) 

37.  11Rs!ci ;j c11ri 4JçrJC) lIICt) 

3ThTFT cfl't-i -l..lIcl 300 pci *ciciI T5T 
31lc frr? 

(a) 3i1.-i T[ (b) çfflj apT 

3  (c) 3TT (d) f 9c 

38.  fT cf iRsci tT 

lc 4I gR 1c4 1cpR-ici ? 

(a) 3T5F (b) jf) 

(c) ll'iiI (d) ij ll 

39.  f-iRi cj (1 — 
R1d t? 

(a) cll — (b) 'M' J — '1'il 

i-iR'jcpi McPll 

(C) TTfl — 1TU'tT c4 (d) - ) .- 51[J . 4IJ 

Cl 

ifiIci i?( cb)- 1cj, (1857 f1c  ci,i pi 

(a) f51 — 29 914 (b) — 10 9, 1857 
1857 

(c) I -h3 — 4 s -I (d) if — ii  1857 
1857 

[A-1-23J 15310! Page 10of32
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41. In 1918, the United Provinces Kisan Sabha was 

formed by which of the following leaders? 

(a) Baba Ramchandra (b)  Indra Narayan 

Dwivedi 

(c) Swami Sahjanand (d) Pt. Jawaharlal Nehru 

Sa raswati 

42. Which among the following organisations was 

responsible for throwing a bomb at Viceroy Lord 

Hardinge in Delhi? 

(a) All India Labour (b) United Patriotic 

Association Association 

(c) Anushilan Samiti (d)  Yugantar 

3 By which of the following Acts, the system of 

'Chamber of Princes' with 120 members was 

created? 

(a) Charter Act of 1853 (b)  Act of 1793 

(C) Act of 1909 (d) Act of 1919 

With reference to the E.V. Ramaswami Nayakar, 

which of the following statement/s is/are 

correct? 

(1) He participated in the Non - Cooperation 

Movement. 

(2) He left the congress in 1925. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

45. What was the name of the female Regiment 

constituted as a part of the Azad Hind Fauj by 

Netaji Subhash Chandra Bose? 

(a) Rani Bhabani (b) Rani ihansi 

Regiment Regiment 

(c) Bharat Mata (d) Veerangana 

Regiment Regiment 

46. Who was the leader of rebellion in Bareilly, Uttar 

Pradesh during 1857? 

(a) Hazarat Mahal (b) Khan Bahadur Khan 

(C) Kunwar Singh (d) Nana Saheb 

Which of the following events was the last in 

chronological order? 

(a) Home Rule (b) Khilafat Movement 

Movement 

(c) Jallianwala Bagh (d) Moplah Revolt 

Massacre 

41. 1918 -,ctd lIc1 R1"-iii TIT cJ  f1TT 1 

(a)  (b)     1cic1 t 

(c) 1TT 5'iI -I (d) t iis Q1k1 1s 

42. -Ic1 cl'-i'-ii 

c'II. si1i tr LC fT ii) ? 
(a) (b) .i1f~ci 

Ef 

(c) 31lçlj iFi1 (d) Icl'c 

1IIc1 t5T Tf1R 120 

 'i f' i ? 

(a) 1853 c  eflc    (b) 1793 cfI 3Tffff?Tf 

(C) 99?ff{ rftktN (d)  1919 cj 31)PIIH 

44. IcT) k {I1I 

ciI/ */? 

(1) -'11 31'-15HI 311 il T 1*ii ftff I 

(2)  1925 cpj1 t?'1 c) I 

1. c cf cb '.3 vi ' 

- 

(a) cf,c.çj 1 (b) ?)c  2 

(c) cl.-  i?IT 2 (d) r i  2 

lcii'.I) t4- 19 TJ 31I'.jII 

Tf - •11QiI 1I C)I 

(a) (b) jf 

(c) nm d3ic (d) cjI 

46. 1857ff cpl 1ii c1 p-iT? 

(a) j ç J:I;T (b) T9 T1 

(c) cc  f (d) -j.-fl '1l5 

iiti    if1i il3t 

c tT 

(a) sTh '.rcjj 3'k11 (b) 1I'.ci 3Ic'k'tl 

(c) [.c4Ic'lI iii (d) 9'1'.(1l F'15 

5 c1l cj) I5 



48. Who among the following women freedom 

fighter was not associated with 'Quit India 

Move merit'? 

(a) Matangini Hazra (b) Aruna Asaf All 

(c) Kanak Lata Barua (d) Shanti Ghosh 

49. Which one of the following (Tributary - River) is 

not correctly matched? 

(a) Manjra - Godavari (b)  Hemavathi - Kaveri 

(C) Malaprabha .- (d) Pranhita - Mahanadi 

Krishna 

50. Which one of the following place is the 

confluence of the river Alakhnanda and the 

Bhagirathi? 

(a) Vishnu Prayag (b) Karn Prayag 

(c) Rudra Prayag (d) Dev Prayag 

51. Which of the following statements is correct 

about laterite soil? 

(1) This soil is developed in areas with high 

temperature and heavy rainfall. 

2) It is poor in iron oxide and aluminium. 

Select the correct answer using the code given 

below— 

Code- 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

52. 'Ozone layer' absorbing ultra - violet radiation 

exists in which of the atmospheric layer? 

(a) Troposphere (b) Mesosphere 

(c) Stratosphere (d) Thermosphere 

53. Make the pairs of chief rivers of their place 

origin - 

Rivers Place of origin 

(A) Yam una (1) Sihawa 

(B) Krishna (2) Nasik 

(C) Godavari (3) Mahabaleshwar 

(D) Mahanadi (4) Yamunotri 

(a) A-(4), B-(3), C-(2), D-(1) 

(b) A-(1), B-(2), C-(3), D-(4) 

(c) A-(4), B-(2), C-(1), D-(3) 

(d) A-(4), B-(2), C-(3), D-(1)  

48. f{fcçi cjr Ieii c1clI Hi 1TT 

ttfTi r *? 

(a) IciI)4) I'M"I (b) 3wr 3T4 

(c) cp.jc c'tcil N'3U (d) rjf Ili 

49. i1t1ci cii 9T (IcP Th - r) 

R'ici ii t? 

(a)  - kIc4 (b) 9Jc1c) - 

(c) ff - ¶EtJff (d) W1UIFc1T -  

50.  t 

ITftf jc  1cc *? 

(a) fr9 -ni (b) u1 wni 

(c)   JJI (d)  1?ITTf 

51.     fk ftqR 

(1)  fIj- \3tt cll'-HI-1 Lc fl5J c  clk ft 

Riq'R-i rth l 

(2) cik 31Icft1I 1i cf 

1Ttl 

qc. - 

(a) cj 1 (b) cc41 2 

(d)i2 

52. q ) fl{1,ui  cp) Ic1 cf.1 Z1T 31il'l'1 

'<cl t9f I'c'14 *ci f f ? 

(a) (b) 

(c) - cii -ii (d) çq l-iE;c.1 

c1-( ~rf't 

(D) iI'lc 

(a) A-(4), B-(3), C-(2), D-(1) 

(b) A-(1), B-(2), C-(3), D-(4) 

(c) A-(4), B-(2), C-(1), D-(3) 

(d) A-(4), B-(2), C-(3), D-(1) 

of 53. c i1.i 
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54 Given below are two statements, one is labelled 

as Assertion (A) and other is Reason (R) — 

Assertion (A) —TheTamil Nadu coast remains dry 

during South-West monsoon 

season. 

Reason (R) — The Tamil Nadu coast is situated 

parallel to the Bay of Bengal branch 

of South-West monsoon and it lies 

in the rain shadow area of the 

Arabian Sea branch of the South-

West monsoon during monsoon 

season. 

Select the correct answer using the code given 

below— 

Code - 

(a) (A) is true but (R) is false 

(b) (A) is false but (R) is true 

(C) Both (A) and (R) is true but (R) is not correct 

explanation of (A) 

(d) Both (A) and (R) are true and (R) is correct 

explanation of (A) 

55 Which of the following statement is correct? 

(1) Ram Ganga river joins the Ganga at Kannauj. 

(2) River Betwa joins the Yamuna near Prayagraj. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

56. Chandraprabha Wildlife Sanctuary is situated in 

which district of Uttar Pradesh? 

(a) Sonbhadra (b) Chandauli 

(C) Baharaich (d) Lakhimpur Khiri 

57. Which one of the following (Passes - States/U.T.) 

is correctly matched? 

(a) Aghil — Arunachal (b) Diphu — Ladakh 

Pradesh 

(c) Niti — Uttarakhand (d)  Mana — Himachal 

Pradesh 

58. Shivanasamudra and Kalpakkam are respectively 

important for - 

(a) Hydel Power and (b) Thermal Power and 

Nuclear Energy Nuclear Energy 

(c) Nuclear Energy and (d) Solar Power and 

Hydel Power Nuclear Energy  

5• cp T(A)3t 

c -f cp'l t)h 0 I (R) ci flLfl — 

3f5Tr (A) — T—t -1I'll 4)TR 

cflj'- ciIcilI c1c. c1I I 

qu (R)— ci{1c'iii' ci iflici c  1Tgt 1I'LcH 

-ii'i1ci  fT * 

1-1Nl1 ) &  

11 f? i — 
 - 

(a) (A)  * f; (R) I'icl 

(b) (A) Icic1 * ( R) cL1 

(C) (A) 3fr (R) c'1'i'i c'1 *, lRii (R), (A) c  Tft 

c&fl cçl  * 

(d) (A) 3 (R) c1'i' 'tc'4 *, (R), (A) cI'l TF 

cL1k9..fl cfcII * 

55. i{fci Ti *? 

(1) ii iii rT - lui 1-u nii Ic'ic) 

*1
___ 

(2) tflT i) UkI'il .4ft Zf9T -t4'l 
*1 

fr f  t — 

(a) cjcçj 1 (b) cjcj 2 

(c) q'H'i 11IT 2 (d) ci') 1T[ ') 2 

56. tfr k T -1)cl 1TU? '.3i: fT  
f *? 

(a) pp (b) z-) 

(c)  (d) c'l-j Tht 

i{1ci T \cf (1 — 1T/c 

Rici T) 11cl *? 
(a) ftrr — uj (b) q— 

(C) 41fT —  (d)  — 1 1lltI('i I1T 

58.  cj ctc 4-( ct'l: fT fr çt4l1 

(a)  :Tf11  (b) cii'-i ,'i1 t 
.lIl1cb1 3-,il TFf1q i1 

(c) jjfq  3li ci (d) rfr ic4 
'lc1 cf  31'1 
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(b)  1 L  2 

(d) 9 th 1 ff 2 

ci c.tth (€4II_I)  rt 

(a)  -  (b) Hcj)I - 

(C)  -  (d)  
- 

60. 1:Ml 

59. Consider the following statements with 

reference to Uttar Pradesh - 

(1) Forests constitute about 12.8% of the total 

geographical area of the state. 

(2) The districts of Jaunpur, Ghazipur and Ballia 

have no forest land. 

Select the correct answer from the code given 

below - 

Code - 

(a) Only 1 (b) Both 1 and 2 

(c) Only 2 (d) Neither 1 nor 2 

60. Which of the following (Port-Country) is not 

correctly matched? 

(a) Rotterdam - (b) Igarka - China 

Netherland 

(c) Montevideo— (d) Jakarta - Indonesia 

Uruguay 

61. Which of the following statement is true? 

(a) Benguela currentS is a cold current of the 

pacific ocean. 

(b) If the sun, the earth and the moon are in a 

straight line then this situation is the situation 

of small tide. 

(C) Ocean salinity is maximum at the Tropic of 

Cancer and Capricorn. 

(d) Tide comes on the earth every day after 

exactly 12 hours 30 minutes. 

62. The river situated along the border between the 

United States of America and Mexico is - 

(a) The Mississippi (b) The Rio Grande 

(C) The Amazon (d) The Colorado 

63. Consider the following deserts and arrange them 

in increasing order of their size (from smallest to 

largest) - 

(I) Great Sandy desert 

(II) Arabian desert 

(III) Sahara desert 

(IV) Gobi desert 

Select the correct answer using the code given 

below - 

(a) I, II, IV, III (b) II, I, Ill, l'' 

(c) I, IV, II, Ill (d) II, I, IV, Ill 

3c1 Iifi1ci I?I 11I 

(1) i'.r'Ll c,c1 I'1R14 9 cbl PTWT 12.8% 

Z1 tl 

(2) sili, II'jl'1 3 1TtLli fr 

9t *1 

cPe 

(b) 

(d) q j')) 

63. PIiRci 11it {It1I c'l{jc 
\jCf) 3ITE1T *  cf (w 

1Ici cicp) - 

(I)  

(II) 311i.-i 

(Ill) iii R5QTT 

(lV)Tft 9'TT 

I I - 

(a) , II, IV, TI! (b) II, I, III, IV 

(c) I, I\', II, III (d) II, I, IV, III 
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64. To whom does the credit goes for the 64.  

development of coconut and sugarcane 

agriculture in Philippines? 

j fc) 'ilicil 

(a) i1j c 

(a) French (b) Britishers 
(c) 

(c) Hollanders (d) Spanish and 

Americans 

65. Match list-I with list-Il and select the correct 

answer using the code given below — 

65. -1 u—lI 

List— I 

(Mountain) 

(A) Kilimanjaro 

(B) Toubkal 

(C) Stanley 

(D) Hoggar 

Code - 

(a) A-(4), B-(3), C-(2), D-(1) 

(b) A-(3), B-(1), C-(4), D-(2) 

(c) A-(3), B-(4), C-(1), D-(2) 

(d) A-(4), B-(2), C-(3), D-(1) 

66. Which one of the following (Lake— Country) is not 

correctly matched? 

(a) Baikal - Russia (b) Michigan — United 

State of America 

(C) Onega - Canada (d) Maracaibo — 

Venezuela 

67. With reference to the "EL-NINO", which of the 

following statement/s is/are correct? 

(1) El — Nino involves appearance of warm 

current of the coast of Peru in eastern pacific. 

(2) This warm current increase the temperature 

of water on the Peruvian coast by 10°C there 

by increasing the amount of Plankton in the 

sea. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

68. What caused wind to deflect towards left 

Southern Hemisphere? 

(a) Temperature (b) Coriolis force 

(c) Magnetic Field (d) Pressure 

c {cti -i i 

(b) f{i.I) ct') 

(d) 

fi 1SI 12T 

('.4ci) (I) 

(A) Th1ii) (1)  

(B)ctc'1 (2)cilRi 

(C)*le1 (3)ci'ilii 

(D)  (4) 1jII 
 - 

(a) A-(4), B-(3), c-(2), D-(1) 

(b) A-(3), B-(1), C-(4), D-(2) 

(C) A-(3), B-(4), C-(1), D-(2) 

(d) A-(4), B-(2), C-(3), D-(1) 

66. 11'IIci T -i ( —?i) Rici 
-i  *? 
(a) ctj — (b) f)i.i — 

'kT"4 31RcPI 

(c) ki-r - (d) 9IIclIi) — 

67. "f_" {{ 

ctl 1T/ /? 

U3I't T W St '1 II c1 * I 

(2)   i4 rm ci  t 

10°C c11 4i kth *, R:i kctcI 

9I4I  inth *1 

f. 1T fT 
ctc — 

(a) cj 1 (b) ccçr 2 

(c)c-'j1l2 

List-Il 

(Countries) 

(1) Morocco 

(2) Algeria 

(3) Tanzania 

(4) Uganda 

in 68. fro1'r Th1T I f5T J? 

cI cf7I''I 

(a) i- j (b) cp))lcimi 1cl 

(C) (d) 
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69. Which one of the following is the largest coal 

producing centre of Ukraine? 

(a) Zaporizhzhia (b) Kharkiv 

(C) Donetsk (d) Kyiv 

70. 'Mount Newman' is famous for which of the 

follovg minerals? 

(a) lrcore (b) Manganese 

(c) C er (d) Bauxite 

How ny railways stations have been identified 

for modernization under "Amrit Bharat Station 

Scheme" in Uttar Pradesh as on February, 2023? 

(a) 57 (b) 82 

(c) (d) 149 

72. Wher was the "Sudarshan 

Exerc" carried out in December, 2022? 

(a) Gtrat (b) Rajasthan 

(c) Uttar Pradesh (d) Madhya Pradesh 

'a As per Social Progress Index, released 

December, 2022, which of the following 

top three positions in 

Tier-1 

(a) P icherry, (b) Mizoram, Himachal .u . 
Lahadweep and Pradesh and Ladakh 

Ga 

(C) KeTla, Nagaland (d)  None of the above 

and Meghalaya 

74 The "NISAR satellite" is jointly developed by 

which of the following organizations? 

(a) lS and NASA (b) ESA and ISRO 

(C) Eand NASA (d) ROSCOSMOS and 

CNSA 

5 Accorg to the Union Budget 2023-24, how 

many skill India international centres are to be 

set up across different states to skill youth for 

international opportunities? 

(a) 20 (b) 30 

(C) 40 (d) 50 

76. Who is the Author of the famous Novel "All the 

Lives We Never Lived", which received the 

Sahitya Akademi Award, 2022? 

(a) Anita Desai (b) Anuradha Roy 

(C) Shobha De (d) Sudha Murthy  

69. 1.ui-i i '4)Q1I ic'-flcP c - 

(a) {{qj (b) 5cJ 

(c)  (d)  

70. 'miue -H' f9 1i 
Ri 

(a) 4) (b) 4j 
(c)  (d) cN11e 

71. LfrC1 2023 cicP l" ''3T1 E TRU &~l1 

Iil-lI * cThcl 3ctc'1cpuI * RI 1ci'1 ('1 
*i.i'i cf)  '1tlI.l *? 
(a) 57 (b) 82 

(C) 123 (d) 149 

72. I*i6N, 2022 "jc1i tT k.i 3PT1" cp 

frr ii 

(a)  (b) 

(c)  (d) 

3• R*i 2022 iit1 *1IJ1IRicP rrf tcl,Icp 

31k fZR—1 , ikRsci c4  aift ti 

*sisiRw rrrfi 1)  ci uI'f R 

(a) qj{) (b) 14i 1ii 
ij' c41 rki aft clIs 

(c) cic'l, iI1lI)u  3ft; (d) \cl'cI 

74. "Pi'ii' IIci 1-i *iiii'i ii 
jci1 T 1ctPci fT i-ii 

(a) rr - (b) ir 

(C) (d) 1i1i')i 3ft ?t. 

75. cj-ç ul  2023-24* 3iii', 31c1i 

1i  UclI31't c'  cfM ci-1 cp {  fj 
1bci1 el iWi c ç  

f ii1? 

(a) 20 (b) 30 

(C) 40 (d) 50 

76. 1IIc1 ic1 *qi<, 2022 1TT cp'  c1I 
 . 

st qi ? 
(b) 3T 

(d) 

71. 

Pra ha r Army 

are 

in 

on 

very high social progress in 

(a) 

(c) 
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, i11 Tt 

1. n—c4 Ri*1 fiT Q1  

YI FI ti 

2. RTt &E5 51r Zt.TT ?tfii, IIct,cI 12I1 

 * Ri  &rziii tR fr *1 

(a) cicic  1 (b) cjct 2 

(c)12 (d)9r112 

qcl, 2023 t TRt * cP 1i.iui 

5T 3Il i11ci t9 TFT 

u 

(a) rcj,  ;ri (b) 1cl, cjkci-. 

(c) cj Ilei'1I (d) iiR' iit 

Ik1 T cti PIii 4)cl 'T 'lIc 

Ic)I - - 

(a) Thiiiiicl (b) tTJc  

(C) c) 3t 11Ic (d) iii 

t c  f 'r iiI fii 

m i 

(a) ui (b) Lj.j1 

(C)  (d)  

* G-20 ic1ci,  F~i-  * k 1'iIiRci 

1. c11cp fF 'thcl c41e11 cp#cyf 

2,tthTi fr m 'lIcl ft *ilcl 'ii1 fi1 

*1 

-1)  l cc f 

(a) cc1ç  1 

(C) c'-j'f1 t 2 

i1i1 f *P 

.31'1c1', 2023 Icl fli-ii nIi fn TrzlT? 

(a) (b) 31TJ9. ' gifl 

(c)   (d) 3{ cpjf 

   

 

l51 lL1f 

 

(b) cic 2 

(d)19T2 

T With reference to mineral resources, which of 

the following statement/s is/are correct? 

1. Lithium's inferred resources have been found 

in Reasi district of Jammu & Kashmir. 

2. India is import dependent for many mineraIs 

like Lithium Nickel and Cobalt. c-a 
Select the correct answer using the code givenC) 

below— 

Code- 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

78. In February, 2023 India's biggest helicopter 78. 

manufacturing plant was inaugurated in which 

one of the following places? 

(a) Chakeri, Uttar (b) Tumkuru, Karnataka 

Pradesh () 

(C) Coimbatore, Tamil (d) Nasik, Maharashtra 

N ad u 

79. Who composed the Golden Globe Award winning 

song "Naatu Naatu"? 

a) 
C) 

80. The Indian Biological Data Centre is being set up 80. 

in which state? 

(a) Haryana (b) Punjab 

(c) Uttar Pradesh (d) Gujarat 

81. With reference to India's G-20 Logo, which of the 81. 

following statement/s is/are correct? 

1. The logo has lotus with seven petals. 

2. The seven petals of the logo represent seven 

continents. 

Select the correct answer using the code given 

below— 

Code- 

(a) Only 1 (b) Only 2 

(c) Both 1 and 2 (d) Neither 1 nor 2 

82. Which of the following Scorpene Class 82. 

Submarines was commissioned into Indian Navy 

in January, 2023? 

(a) INS Vela (b) INS Vagir 

(C) INS Kalvari (d) INS Karanj 

(a) S.S. Rajamouli 

(c) Devi Sri Prasad 

(b) M.M. Keeravani 

(d) A.R. Rehmari 
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83. In December, 2022 New Zealand passed the 

world's first Law to ban smoking for next 

generation. New Zealand's goal is to be "smoke- 

free'1  by  

(a) 2024 (b) 2025 

(C) 2029 (d) 2030 

84. Plane of which Airline crashed in Nepal in 

January, 2023? 

(a) Nepal Airline (b) Buddha Airline 

(C) Tara Airline (d) Yeti Airline 

85 Who among the following has authored the book 

"Spare"? 

(a) Prince Harry 

(C) Prince Phillip 

86. With reference to the Pope Benedict XVI, who 

died recently, which of the following statement/s 

is/are correct? 

1. He was a native of Germany. 

2. He was the first Pope to resign in 600 years. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

87. With reference to the SCO Film Festival-2023, 

which of the following statement/s is/are 

correct? 

1. The SCO Film Festival is being held during 

India's Presidency of the Shanghai 

Cooperation Organisation. 

2. SCO Film Festival will showcase the films from 

the SCO countries. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1. 

(C) Both 1 and 2 

83.  2022 3F1 (.j)ç •) 

'4 IffFTT c'1Ihl cBc1I ftEJ T5T Yc'lI cPIl 

-1lIc1 fii 5T cicp 

"ii T11 Hi *1 

(a) 2024 (b) 2025 

(c) 2029 (d) 2030 

84. 11cI'), 2023f fJ nlI1 T F1ii lIc'l 

kit - i 3rr? 

(a) li II -c (b) 

(C)  Q1I'1 (d) 1 tc1I-1 

85.  

(b) f 1i 

(d) frr tfl ç - 

86. i)q 1cr -t'ki1, 1t'iCP1 Ic'I ff1T 1T, 

c  T/ 
Tt */t? 

1.CIS sI i PNI l 

2. c4  600 c4t'11 cf1I 1 cIIc1 'Tk -I'1'-i I 

(b) cbcic'j 2 

(ci) 1 i-r 2 

88. lRRRi f5r 2023 

ITI II 

(a) [j 3T (b) j 11i 
(c) f:t:t lr (d) 

88. Who among the following has been named as the 

Prime Minister of New ZeaInd in January, 2023? 

(a) Jacinda Ardern (b) Chris Hipkins 

(c) Cindy Kiro (d) Carmel Sepuloni 

(b) Prince Williams 

(d) King Charles 

(a) 

(C) f {fTT 

(b) Only 2 

(d) Neither 1 nor 2 

(a)  1 

(c) c').i'i 1 T 2 
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89. Which of the following cities of Uttar Pradesh is 

not included as the venue for 11 meetings of 200 

sessions of G-20 during India's Presidency of the 

grouping? 

(a) Agra (b) Varanasi 

(C) Kanpur (d) Greater Noida 

90. Given below are two statements, one is labelled 

as Assertion (A) and other as Reason (R): 

Assertion (A) -12 Cheetahs arrived from South 

Africa to India in February, 2023. 

Reason (R) - Restoring Cheetah population is 

considered to be a priority for India. 

Select the correct answer using the code given 

below— 

Code - 

(a) Both (A) and (R) are true and (R) is correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not correct 

explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

91. With reference to the Deakin University, which of 

the following statement/s is/are correct? 

1. It will be the first Foreign University to enter 

India as an independent campus. 

2. It is being set up in Maharashtra. 

Select the correct answer using the code given 

below— 

Code - - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

92. Which Indian origin businessman has been 

elected as Mayor of London Borough of 

South,wark for the second time? 

(a) Sam Dalton (b) Sunil Chopra 

(c) Gautam Adani (d) Neeraj Patil 

93 On 25th  December, 2022, which of the following 

countries extended mandatory Military Services 

for one year to those males who were born after 

01 January, 2005? 

(a) Myanmar 

(c) Sri Lanka  

89.  1I11RsId c  

']T   3T29I1 1II G-20 200 11') 

11c TtT1IfIc9 ? 

(a) (b) IIUft 

(c) q) (d)  l'1I 

90. T9 *, 1I   c {f59 (A) 

34 t) l'I (R) cI k1I * I 

3T[(A)-YcI'l, 2023k 12 cf) jtJ1 

ITT fIT II I 

cpI  (R) - cf  3i6Ic) t 1T9T TT 

4 I c I — 

(a) (A)3 (R)     * 3ft (R), (A) ctV) 

cL]IU cc1I 

(b) (A)31t(R) c4*t(R),(A) 

'1clI * 

(c) (A) cJ * f5 (R) Idc1 * 

(d) (A) Ic1d * f.;: (R) -Ici * 

91. 

1. 5 Lc '.c1cj 

C4jjI ii 11T 1 114Ic-i-1 *1 

2. 9kI QTfT f5RIT fft TT * I 

qe- 

(a)  1 (b) c5cçl 2 

(C) cH' 1 L  2 (d) ci 1T 2 

92. kc cLlclI4) Ct)'l ITIF Q1 

 CM R I- T lI' z1I I.lI 

93. 25 fI-<, 2022 ct, iIci f i 

1T 1llcI, 2005 lI il 

 c  1ict c4 31C4I cl t 

(b) clIcIj'l 

(d) iiPi-ciif 

(b) 

(d) 1rr 4Rcl 

(b) Taiwan 

(d) Afghanistan 
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Among the following, which country has declared 

to remove the British Monarchy from its Central 

Bank Currency Notes on 2 February, 2023? 

(a) Canada (b) Australia 

(c) Sri Lanka (d) Nepal 

On which of the following, proved charges the 
Finance Minister Nadhim Zahawi was sacked 

from the Government in February, 2023 by the 
British P.M. Rishi Sunak? 

(a) Disclosure of Secrecy(b) Sex Scandal 

of the Cabinet 

(c) Tax Scandal (d) None of the above 

Which of the following elements is not a Noble 
gas? 

(a) Argon (b) Krypton 

(c) Radon (d) Actinium 

Which of the following hormones is secreted by 

the Beta cell of Islet of Langerhans of Pancreas? 

(a) Glucagan (b) Insulin 

(c) Adrenalin (d) Aldosterone 

Which type of vaccine protect against 
Diphtheria? 

(a) Toxoid (b) Live-attenuated 

(c) mRNA (d) Viral Vector 

99 Which of the following is mRNA vaccine used 

against Covid-19 infection? 

(a) Sinovac (b) Moderna 

(c) Sputnik (d) Novavax 

100. Which of the following factor is the most 

important factor for the lost of biodiversity? 

(a) Genetic assimilation (b)  Control of predators 

(c) Destruction of (d) Pest control 

natural habitat 

101, The Xylem in plants is responsible for 
transporting - 

(a) Water (b) Amino Acid 

(c) Oxygen (d) Food 

102. Non-conventional energy sources are those 
energy sources, that are - 

(a) Non-renewable (b) Renewable 

(c) Produced from (d) Produced from heat 
electricity 

94. 2 2023 c1 {11ci k f5T i 
? arq't c-)  r ffi Ii1II) 

c 'j ei 4) EiJIT 
(a)  (b) 

(C) ij'cbJ (d) Igic'i 

fi1 f 31 

2023 cp') 11~i TT9'T jc T1 
&q c4( 119) r1TT iiIc) q)  

(a)  (b) 'E c'1Jj 

i'1q4)icii I  

(c) (d) c  9' 
96. 111c1 cti 9I dcci l'l 'i *? 

(a) 3rf (b) 1bi 

(c)  (d)  

9 1ici ki iTh-i 
q') tT (ci)1icf) "-iRci 

IclI *2 
(a) 'JJ -t (b) 

(c) i.i[ (d) '-j 

98. fr ct'i" cbl 1T '1ftzrr lt4Ic1I *2 

(a) cpn (b) Hcl 

(c) (d) c4 'j  

lI{cl cl T mRNA C)-1 * 1iqi 
'NI cp')R-i9 .c()9UI {1ci fR1T '.sjlcll 
(a) jcj (b) -I'I-ii 
(c) 1q-., (d) 1'lc1Ict*{ 

100. 1 T çj  

fr cl11q) cjc 

(a) 31Ii1q, (b) 'g t' fur 
I c1 I cI 

(C) .ivp1?ict clNi t1 (d) PliUI 

Mt 'ilIc'1 {cT fr' ')clI * 

(a) jcj (b) ti') 

(C) jci-j (d) hpr 

102. _14t4Rcp ' ) f - 

(a) i_u') (b)  

(c) iiRii t (d)  

94 

96. 

98. 
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103. Biological Oxygen Demand (BOD) is a standard 

criteria for - 

(a) Pollution assay in aquatic ecosystems 

(b) Assaying 02 level in high altitude regions 

(c) Measuring 02 level in blood 

(d) Computing 02 level in forest ecosystems 

104. The aquatic plant commonly used as bio fertilizer 

in the water-logged rice field is - 

(a) Lemna (b) Azolla 

(c) Wolfia (d) Trapa 

105. Which of the following is known as laughing gas? 

(a) Ammonia (b) Nitrous Oxide 

(c) Carbon Monoxide (d)  .Chlorofluro Carbon 

106. Seaweeds are important source of — 

(a) Iodine (b) Bromine 

(C) Chlorine (d) Argon 

107. Which of the following is an insectivorous plant? 

(a) Nyctanthes (b) Nelumbo 

(C) Nicotiana (d) Neperithes 

108. Human heart is made up of how many chambers? 

(a) Only four (b) Only one 

(c) Only three (d) Only two 

109. What was India's rank in the world greenhouse 

gases emission in 2022? 

(a) gth (b) 10th 

(c) 11th (d) 12th 

110. A geographical unit that collects, stores and 

release water is called - 

(a) Watershed (b) Waste land 

(c) Wet land (d) Water reserve 

111 When did the Water (Prevention and Control of 

Pollution) Act was enacted in which of the 

following year? 

(a) 1974 (b) 1975 

(C) 1976 (d) 1977 

112. Example of Lotic ecosystem is - 

(a) Swamps (b) Ponds 

(C) Rivers (d) Marshy area  

103.  ,flcNjjl 1ii (.3itt.) 1ici 

11I. i.cp 1- I-icp 1Jlcs *? 
(a)q t4f 
(b) ii ri t 3tEI' c. j 

(C) 'q 
(d) ç 

-iiui.-i ti-t 

104. :  klIR1c1 TI * 
c-3ccp Zt11T II1I 

(a) iiii (b) l'c'11 

(C) cuI{.ii (d) jqj 

105. i1iiRsici   cj ic1l 

' 'illil icii 

(a) ) (b) riii 31'IcN1i t 

(c) qi4i j) IT1I  (d)  c)I41 cp') 

106. fcj quf '1ci ? 
(a) itIi (b) T1fr[ 

(c) (d) 311tT  c 

107. u *? 
(a) (b) is) 

(c) [[~it (d) f1T 

108.  -4 (cp'j) wr i -ti 1cii ? 
(a) ccl1  (b) cj'j  

(c)  (d) cic1 

109. 2022 ft izti  *  iT 

(a) 97 (b) iotf 
(c) 1i (d) 12f 

110. t) 1Ct) Ct)I 1t F1 cI q'c11 t, 

(a) (b) ZM 9ft 
(c)f (d)5Tsj 

111.  r qii 1ui) 3f 

iki1ci 1 iizii i-ii? 

(a) 1974 (b) 1975k 

(c) 1976 (d) 1977 

112. c'i'ul~.ct iRR- 4?ict c 5T \3c1ul - 

(a) cj (b) clIciIl 

(c) .4) (d) (ij1 

4 I) 

LI \ Id 

'-'Ilcil 
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113. First National Centre for Marine Biodiversity 

(NCMB) of India is situated at - 

(a) Munibai (bj Jamnagar 

(c) Bhavnagar (d) Puducherry 

114. Which among the following is a constituent of 

natural silk? 

(a) Phosphorus (b) Nitrogen 

(C) Magnesium (d) Potassium 

115. Desert dwelling animals are called - 

(a) Arboreal animals (b)  Terrestrial animals 

(c) Fossorial animals (d)  Xericoles anima!s 

116. Match list-I with list-Il and select the correct 

answer using code given below— 

List - .1 List - II 

(Diseases) (Factors) 

(A) Peptic ulcers (1) Virus 

(B) Dengue (2) Protozoa 

(C) Elephant Foot (3) Worm 

(D) Malaria (4) Bacteria 

Code - 

(a) A-(4), B-(2), C-(3), D-(1.) 

(b) A-(4), B-(1), C-(3), D-(2) 

(c) A-(3), B-(4), C-(2), D-(1) 

(d) A-(2), B-(3), C-(4), D-(1) 

117. Trophic levels are formed by- 

(a) Organisms linked in(b) Plants only 

food chain 

(c) Animals only (d) Carnivorous animals 

only 

118. In National Parks, Genetic diversity is maintained 

by - 

(a) In-situ conservation (b)  Ex-situ conservation 

(c) Gene pool (d) None of the above 

119. Hangul-deer is found in which part of India? 

(a) In Kerala (b) jFAssam 

(c) In Rajasthan (d) lr%'Jammu and 

Kashmir 

113. 1TT 5T T2PT I1e1 -I' Th €iii1-1fl 

(mt) ftQTT * — 

(a) if (b) t 

(c) c.- i< if (d) if 

114.  if cp   cp 

(a) ip') (b) ii'li -i 

(c) 4'[i (d) q{  

115. I1 -ciiI if 31TlTF ct ciIc1 'illlcl' — 

(a) r1T1 ii.ici (b) 1T lI1cN 

(c) f Frlif c1Ic1 iji'-ic(d) fi-c -ii_ii' 

116. vt-Il fz 

ctc. ct)l PT Cb'scP Tt 

- ll 
(zal) ((PI'cP) 

(A) RcP çU (1) 11tiiui 

(B) (2).l3iT 

(C)tf Luici (3)I 

(D) 1l1I (4) 11lI 

cl — 

(a) A-(4), B-(2), C-(3), D-(1) 

(b) A-(4), B-(1), C-(3), D-(2) 

(c) A-(3), B-(4), C-(2), D-(1) 

(d) A-(2), B-(3), C-(4), D-(1) 

117. ifqq — 

(a) i ff(b)  

(C) ccçi 3i13It (d)  'il-3if 

118. itk 'ii'i if iIcl[Ip lmrr cl- 1 —iq 

frr 'jilcil — 

(a)     TUT (b)   TUT TI 

(c)rTfT 

119. f qp  if ci rrr I fuj tii 'ii I cn 

(a)jif (b)if 

t1ccp cpkf 

(P1 I q 
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120. Which of the following is not a biodegradable 

polluter? 

(a) Domestic waste (b) Urine 

(c) Faecal matter (d) Pesticide 

121. Which one of the following is not true about the 

total outlay in the Union Budget 2023-24? 

(a) Interest payment (b)  State share of taxes 

(20%) and duties (18%) 

(c) Defence (8%) (d) Subsidies (9%) 

122. Match list-I with list-Il and select the correct 

answer using code given below the lists — 

List - I 

(Theories of Population) 

(A) Optimum Population Theory 

(B) Social Mal-adjustment Theory 

(C) Demographic Transition Theory 

(D) Population-Food Supply Relationship Theory 

List-Il 

(Propounders of Theories) 

(1) Thompson 

(2) Malthus 

(3) Edwin Kennan 

(4) Henry George 

Code - 

(a) A-(3), B-(4), C-(1), D-(2) 

(b) A-(2), B-(3), C-(4), D-(1) 

(C) A-(1), B-(2), C-(3), D-(4) 

(d) A-(4), B-(3), C-(1), D-(2) 

123. What do we call balancing the need to use 

resources and also conserve them for the future? 

(a) Resource (b) Sustainable 

conservation development 

(c) Future resources (d)  Reducing 

consumption 

124. Which of the following is not a sustainable 

development goal targeted to be achieved by 

2030? 

(a) Gender Equality (b) Zero Hunger 

(c) Good health and (d)  Space Research 

well being 

120. iFiRci   1T Ii G1(1 11cP 

(a) (b)  

(C) i (d) c)ccp 

121. cj -fl i1t 2023-24 c  Y1cq fIci 
1N'd  i1tt? 

(a) 6M 1 Ic1I1 (20%) (b) cp'.j' tf 

t iiflgi') (18%) 

(c) r  (8%) (d)  (9%) 
122. %1-1 ct"l ut-lI j1ici q { 3 -  [ 

(iiiiqi 11c9Ic1) 

(A)zjqcic1 .n'i*i&qi Riii 
(B) iiii1icp 3Iuiji-t IlcNc1 

(C) 'l1*is4t t)1uI Riici 
(D) qI—snEm.1 R1c1f 

-Il 

i1T4icii 

(1) k*N 

(2)rrT 

(3) LPl q?-l- 

(4)9  

(a) A-(3), B-(4), C-(1), D-(2) 

(b) A-(2), B-(3), C-(4), D-(1) 

(c) A-(1), B-(2), C-(3), D-(4) 

(d) A-(4), B-(3), C-(1), D-(2) 

123. jpft I   - c juT 

3iiiictcii *1IIc1  E t1I 

(a) (b) I1cl,N1 

(C) Tfl19 (d) p4) q'ii 

124. irr c- 1TThT 1ii '1 

t, 1F 2030 cic  flT  r i rzrr 

(a) [cp '111IlctI (b)  

(c) JT (d) 3ffift 3V1TT 
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L) 

C) 

126. 

CX:) 
L() 

C) 

125. Given below are two statements, one is labelled 

as Assertion (A) and other as Reason (R) - 

Assertion (A) - Population control is necessary to 

maintain the environment of the 

cou ntry. 

Reason (R) - Due to the rapid increase in 

population, the environmental 

balance is maintained. 

Select the correct answer using the code given 

below— 

Code - 

(a) Both (A) and (R) are true and (R) is correct 

explanation of (A) 

(b) Both (A) and (R) are true but (R) is not correct 

explanation of (A) 

(C) (A) is true but (R) is false 

(d) (A) is false but (R) is true 

126. What is the theme of the International Day for 

the Eradication of Poverty for 2O2223? 

(a) "Acting together to empower children, their 

families and communities to end poverty." 

(b) "Dignity for all in practice." 

(c) "Accelerating global actions for a world 

without poverty." 

(d) "Coming together to end poverty and 

discrimination." 

127. Role of Human Resources in Economic 

development, which of the following 

statement/s is/are correct? 

1. Effects of economic development on 

population growth. 

2. Effects of population growth in economic 

development. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 

(c) Both 1 and 2  

125. c) 119 , 1:::;i  Ct 15 (A) 

31I c- cp') cPk'l (R) cp lLH — 

3Tf1N (A)- i 4'cUj cf') rTVT &k 

frt isi f11'! 31Iccp *1 

ciui (R) - i-1-i's4I thi 3I ctii 

l'lI c1I * 

c,c. — 

(a) (A) 3ft (R) ci TT (R), (A) q T1 

ckI cb<c1I 

(b) (A) (R) 1I' ic'Li f5 (R), (A) c Tt 

ck4I  cçj 

(C) (A) '-Ic.l * f.;: (R) tc1c1 

(d) (A) Icic1 * fj (R)  

2022-23 fP tl) - ji fr -i1i 

t)I f1R CI 

(a) 'i -19Ic1 fp ft, i'lc '.iRg, 

) .l I cç ' cj 

5T cP -II I" 

(b) 'cci' P?1 z f iiii I 

(C) "4) f19T z 1cict nR 

Qii'lI I 

(d) "r) TE w-c1 c fp C) 

3Trf Fcrii uici tmr cl,I .u1icii 

, fiR1ci c  T/ /? 

1. 3rrf 1 cf) 5T ' l I tT P1T I 

2. iI -t -Is.lI cp &rf frT tR TRTt I 

f fl c 3TT51T tr i 15T ti -i '-I 

- 

(b) cc!c'j 2 

(d) ?i 1T 2 

(b) Only 2 

(d) Neither. 1 nor 2 

(a)  1 

(c) -il 1 3I 2 
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128. When was the Census work done for first time in 

India? 

(a) In the year 1850 (b) In the year 1861 

(c) In the year 1871 (d) In the year 1881 

129. Match list-I with list-Il and select the correct 

answer using the code given below the lists — 

List I 

(Sustainable Development Goal) 

(A) SDG - 10 

(B) SDG - 13 

(C)SDG-14 

(D) SDG - 15 

List-Il 

(Related With) 

(1) Climate Action 

(2) Life on Land 

(3) Reduced inequalities 

(4) Life below water 

Code - 

(a) .A-(1), B-(2), C-(3), D-(4) 

(b) A-(2), B-(3), C-(1), D-(4) 

(C) A-(3), 

(d) A-(3), 

B-(2), 

B-(1), 

C-(4), 

C-(4), 

D-(1)  

D-(2)  

130. Who authored the book "The Challenge of Wqrld 

Poverty"? 

(a) Adam Smith (b) Gunnar Myrdal 

(c) Amartya Sen (d) Jean Dreze 

131. Which one of the following is the main objective 

of Janani Suraksha Yojana? 

(a) Reduction in maternal mortality rate only 

(b) Reduction in nec-natal mortality rate only. 

(c) Reduction in infant mortality rate only 

(d) Reduction in maternal and neo-riaI 

mortality rate L 

132. The "Agenda —21" of Rio Summit, 1992 is related 

to - 

(a) Sustainable (b) Polluter—Pays 

development principle 

(c) Environmental (d) Preservation of 

education ozone layer 

128. 1rFlIuI.lI 15T Ct)14 *4M?ITI f5-zrJ 1TZ11 

(a)  1850 (b) 1861• 

(C) i4-  1871 (d) crj 1881t 

(a) A-(1), B-(2), C-(3), D-(4) 

(b) A-(2), B-(3), C-(1), D-(4) 

(c) A-(3), B-(2), C-(4), D-(1) 

(d) A-(3), B-(1), C-(4), D-(2) 

130. 5l q qQ\ t.flc1c 1cP fb*t fi? 

(a)  fET (b)  1i 

(c) 3j4 'I'i (d) j a3i 

131. ii i-) IT I'ii 51 

(a) cjc  jç  cp4) 

(b) cj.cjç '1CJ.sflc1 lc 

(d)  cp 

132. fZft 1isN *I1 kN, 1992 T5T ".I-21" 4tfr 

(a) 1c1c1 11cpi*i (b) cj' — Ic1I1 

Riici 
(c)  fn (d) jsj L4'i!ç * 
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133. Consider the following statements about 

sustainable development - 

(1) Based on the global indicator framework and 

data produced by National Statistical 

Systems and information collected at 

regional level, the United Nations Secretary 

General presents an Annual Sustainable 

Development Goal Report. 

(2) Global Sustainable Development Report is 

produced to inform the quadrennial 

sustainable development goal review 

deliberations at the U.N. General Assembly 

once every quarter. 

Select the correct answer using the code given 

below— 

Code- 

(a) Only 1 (b) 0n1y2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

134. With reference to the Human Development 

Report, 2021-22, which of the following 

statement is/are correct? 

(1) India's rank on the Human Development 

Index has upgraded from 130 in 2020 to 132 

in 2022. 

(2) India's rank on the Human Development 

Index has stipped from 130 in 2020 to 132 in 

2022. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 

(C) Both 1 and 2 

135. Natural resources should be used by the present 

generation in such a way that if there is minimum 

degradation of natural resources, then what kind 

of development would it be called? 

(a) Economic (b) Social Development 

Development 

(C) Sustainable (d) Organic 

Development Development  

133. 

fim - 

(1) ~'11c1cP 1cp j<z11I ?EU I)1 thR.qqcI1 

oq cj i'i W 'cjc1 1 3tfIT tR 

*qIci '-INI * 3I11T 1 1tc1 

41I'1Ilcl cl gl1c4 cpJ' T1 

Rq'ic W*cjc1  

(2) 1cN, ITO?T fcpN1 Rq' 1pii cM 

't5. 1k1Tr c1[cl,  *w1t? cj 

TT 1ii it  

31T tl 

lf51 

Tj.iici 1Ii'. - 

(a)  1 (b) c ç4 2 

(C)cj'1l42 (d)919f2 

134. -tI.1cl 1ci-i R, 2021-22*{4k -t1i1i 

ql*ii 5T9 '1c1 /*? 

(1) iI'ici 1lC17hH 1cicp 'ijr 'ift 2020 

130 '3 -1ci ')cp" 2O22 132ñ  ti 

(2) iiici 1q'ii tcfIct TR1 m 2020I 

130T 20221 132 cicP 1    *1 

 141 c4 f5T 3fr1T t i' 5T tl-f 

fTt - 

(b)  2 

(d) 9 ?I1 191 2 

135. 1T1q) 4mT9't E151 II 1 Ack 

\L.1J f51T  f MIpIcP RT1.T91 T -1c111 

rvr r, r r CbdlII? 

(a) .31Tf 1cbI*l (b) iiii1i [cpi  

(c) jç 1ctN1 (d) 1ct)1 

(b) 0n1y2 

(d) Neither 1 nor 2 

(a) cc1ej 1 

(c) 4''l'  i4 2 
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136. With reference to 'PM Gati Shakti Scheme', 

which of the following statement/s is/are 

correct? 

(1) The PM Gati Shakti Scheme-National Plan was 

launched in 2022. 

(2) The PM Gati Shakti Scheme pertains to seven 

engines (Roads, Railways, Airports, Ports, 

Mass Transport, Waterways, Logistics 

Infrastructure). NIP will be aligned with PM 

Gati Shakti Framework. 

Select the correct answer from the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

137. Which of the following is not an economic 

activity? 

(a) Farming (b) Service 

(c) Voluntary Social (d) Transportation 

Service 

138. With reference to the scheme wise allocation in 

the 2023-24 Union Budget, which of the 

following statement/s is/are correct? 

(1) Compared to the previous year, highest 

percentage of decline has been recorded in 

the allocation for MGNREGA. 

(2) Compared to the previous year, highest 

percentage of growth has been recorded in 

the allocation for Jal Jeevan Mission. 

Select the correct answer using the code given 

below— 

Code - 

(a) Only 1 (b) Only 2 

(C) Both 1 and 2 (d) Neither 1 nor 2 

139. By which year the target of population stability 

has been fixed in India? 

(a) Year 2045 (b) Year 2070 

(c) Year 2075 (d) Year 2080  

136. 'tt,p III1i iiii k 1i1i1Isici 

T519  

(1) tTh1T[  5T 1T 2022 

TTfTlTl 

(2) it'li 31z11I -ii eiii (i9.3u.t1.) 

iIc1 ii'i ('i1ct, c'1, i"k. c' 1II, FE 

'(- tN ld 9I1I'1 3ft ,HII::kP 

ttlr i1i3It 4i  

rfr 'si'hi 'jlIII I 

111c1 cl2. - 

(a) cc1Q1 1 (b) cicIe12 

(d)912 

137. i1i1ci ci &Ef15 fZ1T .i t? 

(a) I4 (th) (b) -flq,' 

(c)  141M cfl (d)  

138. *ii 2023-241 i-iiat 3ii' 3llcle'l 

i) /*? 

(1) 1i It c'i'lI iiii cj, ?,iIckl 1 

1Icp M1icJ q)ci'lc1 cu il i 

(2) 1t T' t i'ii T '.ii '.i Ii-I cj 

ice'i 11cP 1.1R1Icl q jf ii4 

*1 

4)i 1  'i ct~c I5T MI 4CI *D1 'dr1 5T 

tqj c6)fi - 

(a)  1 (b) cItciQj 2 

139. i t -rrfrr i f ci ct 

ftfr fu izrr *? 

(a) M 2045 c1t 

(c) zr4 2075 ctcP 
ci  

(d) 2080 clq' 

(b) 2070 clq, 
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140. Which statement is true for Finance Sector (Fiscal 

Management) in the Union Budget-2023? 

(a) Twenty years interest free loans to states. 

(b) Fiscal Deficit of 3.5% of GSDP allowed for 

states. 

(c) Fiscal Deficit 2025-26, the target is to be 

below 5.5%. 

(d) Budget estimates 2023-24 for total 

expenditure is 55 lakh Cr. 

141. According to Economic Survey 2023 about 

services, which statement among the following is 

not correct? 

(a) Credit growth to services is above 16% since 

July, 2022. 

(b) 75 digital banking units announced for 

transforming financial services. 

(ci Fashion, grocery and general merchandise 

will be captured nearly two-third of the Indian 

e-commerce market by 2030. 

(d) P.M.l. services witnessed strongest expansion 

since July, 2022. 

142. Which of the following is/are the type/s of 

poverty? 

(1) Absolute poverty 

(2) Relative poverty 

(3) Subjective poverty 

(4) Functional poverty 

Choose the correct answer using the code given 

below— 

(a) Only 1 and 2 (b) Only 1, 2 and 3 

(c) Only 3 and 4 (d) Only 1 and 4 

143. Which of the following (Scheme - Year) is not 

correctly matched? 

(a) Deen Dayal Upadhyay Gramin Kaushalya 

Yojana - 2014 

(b) Rural Housing Interest Subsidy Scheme - 2017 

(c) Shyama Prasad Mukherj' Rurban Mission 

2015 

(d) Sansad Adarsh Gram Yojana - 2014  

140. c-fl.i [-2023 1  

*1  
(a) c4)  * {  qj  I 

(b) E15T 3.5% cp'q  

iiRtl 
(c) 2025-26* fit Mct1Il 1I~ Et1 5.5%t -1) 

TI 

(d) 2023-24* pjç 31 41il t  ci  55fI 

 'Y *1 

141.  €i f &1f5 1TJT 2023 k i11RcT 

(a)  2022 fti I1 16% 3I' 

*1 

(b) 75 I:I:51cc'i 1bii .cPi1 qç) 4UU fui1 

,g*R11rUl 

(c) tj j) st'-tc'j 1kI1 2030 dci,  

{ff1T —ci'19 GlI'.3lI' * TN1T t f1 

(d) 1 3IT. .lcij31t 2022 sc'1F 1'iI1 

11T i 'T1TI 

142. {{çj qiii/ f9m T/* 

* /*? 

(1) (9' 41) frm 

(2)  

(3) 4ih4 .ffi 

(4) WcpIc-4-Ic rørii 

(a) cl,cltz.1 1 aft 2 (b) cjclQ1 1, 2 'r 3 

(G)cc1d354 (d) cjc4Q1 1 f 4 

143. i1i1ci qi cp  (1iii - 

• 1ici i) *? 
(a) cj cIlc.j tfl21T 1I4I clIclI I\jI'1I - 

2014 

(b) cj 6l'1iI -e* :11 1ci- - 2017 

(C) w-u 1Ic IJ1 1lii - 2015 

(d) j'-jc 31Tf .1l9 - 2014 
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144. Which of the following scheme/s is/are related to 

•Uttar Pradesh? 

(1) Anuthee Uphar Scheme 
(2) Matra Shakti Udyamita Scheme 
(3) Kaushalya Matritva Scheme 
(4) Stree Nidhi Scheme 

Select the correct answer using the code given 
below— 

Code - 

(a) Only 1 (b) 0n1y2 
(C) Both 2 and 3 (d) 2, 3 and 4 

145. Which of the following Scheme/Programme is 

not the Central Government Programme and it is 
Uttar Pradesh Government's Programme? 

(a) MGNREGA (b) Gramin Swasthya 

Mission 

(c) Ganga Expressway (d)  Pt. Nehru Utkarsh 

Mission 

146. Who has written the book "From Dependence to 
Self Reliance"? 

(a) V. Venugopal Reddy (b)  C. Rangrajan 

(c) Raghuram Rajan (d)  Bimal Jalan 

147. Which of the following is known as "World 

Wetlands Day"? 

(a) 10 January (b) 15 January 
(C) 1 February (d) 2 February 

148. World Social Protection Report is published by - 

(a) World Bank (b) World Health 

Organization 

(c) International Labour (d)  World Economics 
Organization Forum 

149. In which year, "Mid-day Meal Scheme" was 

renamed as "P.M. Poshan Scheme"? 

(a) 2018 (b) 2019 

(c) 2020 (d) 2021 

150. Which of the following (Union Budget 

Departments 2023-24 — Allocation amount 
approx. ) is correctly matched? 

(a) Ministry of Health — 89,155 Crore 

(b) Dept. of Health and Family Welfare —! 80,000 
Crore 

(c) Dept. of Health Research — 9,155 Crore 

(d) Pradhan Mantri Jan Arogya Yojana — 5,000 
Crore 

144. iRi1ci r  Ikli/  rkr 

(1) Wt '.ii'< '1il-lI 

(2) lJcII1 \1Ilc1I 4ii.ii 

(3) CiIc.'fl thcc1 illl 

(4) fii .i'liiii 

(a)  (b)  2 
(c)q'23 (d)2,3aft4 

145.  j   1T q,j4çpi4 cc4 '<1'<cf)I 

i5T cPi4cP 4-I ll t i'< 
.i1iii ? 
(a) (b) I4-ul '<-1I*ZT tT 

(C) ijiir (cNi'<i * (d) tff $"&) 

i i 

146.  1:L':i:'<1 • j5 1ii*e' 1Ct) 

(a)  Ul1LIk.1 (b) 

(c) '<'<J4j '<Nil (d) 1i 'JlI('lIl 

147. f qi 'f u'<1 1" * 
'ilill 'ilicli 

(a) io sl -ic1') (b) 15 jlici'1 
(C) 1 9"<1') (d) 2 4"<cl' 

148. fj '<1I 4iI1ict, TUI ftft cPIfci cf — 
(a) q,  (b) '<ij 

kI 
(c) <1k 1T1 (d) f 3T[15 I i'<I 

'<1tc1 I'<I 
149. '1IzTT fr5j9 iI1I" 'itTf  Lsj.jJ" 

f9TT 

(a) 2018 (b) 2019 

(c) 2020 (d) 2021ff 
150. f-ifci cp (c fwT 

2023-24-- iiipci 3iii1ci '<i1i ) '<-i '<j.juIici 

(a) iT 1'IIc'I4 — 89,155 C)S : 

(b) TQ2 tf cçquj i1Iciq — 80,000 

(C) ffZJ flT fI'I1'T — 9,155 '<'1E 
(d) it'-i1 'l'i iii Ll')\jl-lF — 5,000 cp  

{A-1-231 153101 Page 29 of 32
III II 11111111 H liii IIIIIIIIiIIIIIII I III 



A 

2023 

 2  

'i 3Iyq 1 TUT c1cPI eil 

JULIET-2-24 

*I'-II'.1 3TZfF1-H 

9I 1I  

uui1cp 200 

3TtI9T 3i1jP41iCP (-II11 IIcN-1 * 

1.1I *  * fr cjcçj q)ft ff_Lq' [ 5T wi c4  I 
3TT1 t—'-i*P i'1 1f5 t 

 cqe1 3rN—L4cl 'R t I T1T * 3'NIc1 —T 9 ifi Iic 1t *I1'4 k I 

uuj 3c
( 

1. TT  31   * 3T5 'iii-f I 

2. —i' .3jfl  3i'ti, 14, r1— r c  tj ;•1I¼,1 3ff5 ct) ;3T;2T _1q T 
iqi  fWi 'iiiii 3t ict1 Rici'  *ci 3TT4 t 4i 

3 juj Icicpi 100 I crr * (4) cp1cp i' ii * -  f * I 1 tii 'i 

 *1 fRr  311tT  Zff 3fff 141 *, i1'-41cP 3TT iiI ci 1T cp 

4.  
t (zi' 5T W4'II C,):  I 

5. i' -i 1cicii 1,ii (ii 'ii I 40 * 1iciii) 1rft c'ki it * fT' (fI/Tt) 
31 -Y c1I * WPT 3T1 I II I 

6.  
c  q, 1cp.< ) 41i ch YTUT Rciq)I ici qr I 

7. ivici  * fr cU.S  

zj4kqi ii fi 1I1c1  * f  c' ii'ii I 

(i) 1ccp [1 *  R cl'1q' vN * I '3 - lcclh( i'.i * rt cp Ic1c1 '3d" * 1i II 

A frzr f  Ti-ti  3t T u's * tT Ct) I c4 '311 1 

(ii) c1 cr 3ifV15 ii1 acii *, it T IeIc1 'c1' 9111 '1III, r  iq '3tI1• lJc,, 

3r1'i 'lifl 1cii t  4 ii Ii * 1i 3cFiIII c1  I5T  Ii 'jlILII I 

(iii) cclI i'.i ct -i i ii frr '1Ic1I * -tkj 41qi ii 'i -ii Ri 'ilicil t 'i i-r 

* fr q,  cu r1 fi. itii I 

U5 3lIYcl'1 (U Rcic,i Q1I m   3lI I 

Note: English version of the instructions is printed on the back cover of this Booklet. 
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i1iRci frT ft cflcN cf) .1ICI — 
(a) j?t     TJf  (b)  u[I tTlT *1 
(C)  TI1-- -Ti-U'1- T * (d) c  31T RW 311  I 

2. ct ccrfi  CPI 1t fii t" cj 1T cflti 

(a) cp4z (b)  

(c) c Pc qzj (d c  :ft 

3 jRcici ici.I ci  irT frt 1i4 icii1 firiui cl,I Thr tzrr mii * — 
(a) c :f1- i *1 (b) I ct1 i'ii uift i 
(c)  ;11 i c) I (d)  311  *1 

• '' - *? 

(a) ui (b) 

(c)  (d) 

5. fFr ri T cN41 cbi Cp'lI T i -ii 1:nRIn  JiI, — 

(a) r_1'1ui cp (b) cp  

(C) jf{ cp (d) 3T9J fIT c  

6. 1 q-, 3T t, c4  * — 

(a)  (b) 

(c) fj (d) 

7.  

(a) 31Icz1_iiuI (b) 31çl-3fl 

(c) (d) —4 
8. fiIcl ic c) T 1cIIt r  - 

(a) _1u (b) 

(c) jc—cWflH (d) 

9 i1tRci cii cfl c'iITfT 3T 1ci *? 

(a) JI  —  (b)  —p cfrc11*I 
(c)  	 1*—-cII- (d) 

TI 

10. i—i *? 
(a) (b) 

(d) 3J 

11. i1i cic4r iii vr * — 
(a)  (b) cp ç.)cI  

(C) IrIk (d) I'ilI' 

PJI 11 '-I-lI 12 16 ff — 
{IcI IiI cp'I TT t1ft 11211 1II 12 16 dcp '3I' IiI * 311T t c1fII, — 

" 3T111 Ri 1c1 cPclI I 'ii<pfcP qc cj  3 r1i 

T, IIc1 1-1T 311 c1-I 1'1l 'HcPc1I * I TT1T 3 -iPi TUT '1I  § 3T * I 

ci U9 T '3 -'1 ci c  I11T9T(3It Cl, 1..-cp { * 3 '3 j Jff3 1.ç CI 4 U ' 

'lI1 * f5 cl iiRicp fTfIRTr CM '4t 3cict cI?I tR fRT c1I * I' 

12. I1il dpi iIcp * — 
(a) RIcPkl CM -IcI1 (b) IIcpi ?t FZt1T cl,J .Thiqii 
(c) RICPk-I icp1 dPI '.TIIIci (d) it: Icbk- t1ftfTftr dpi  
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13.  f j T rrfr cJ)  *? 

(a) T q (b) cpn iei tR 

(C) 41ci f tR (d) 

14. IGc 5T rthir f 
(a) (b) Wc,[ 

(d) iftfif 
15. — 

(a) 4ii'cp iftfftr * (b) rffifrzir ft * 
(d) 

16. — 

(a) c'j 1::I j (b) cjcçj * 
(c) ct *'iT -t  * (d) tj  

17.  

(a) *jii f (b) 
(c) i.p<j (d) 

18. iii1  * 3i-c14ci Tth *? 
(a) (b) 1.Ikc 

(c) cTI) (d) 1Ic) 

19. '3Tt' f 3TT 1ct,1ci 
(a) -) 3q' (b) 

(c) wni (d) 

20. ifci qfc  * — 

(a) (b) 3w 9T1*I 

(c) jj t j i4 r &fir ti cii fZHI (d) dI1c 3 JlcII T 't4 [1T *1 

21. 1fi1c1 f icp  cilcrl ci—M çw- &i *? 
(a) j4cj'< '.it t Rt'.ii) i (b) 15T Ct c'e ffiiii 
(c) (d) ci  cp' J 

22. 1IIc1 # ic'<+i i  t? 
(a) a (b) 

(c) i-i (d) j( 
23. ''j * — 

(a) gi -ii (b) 

(c) 1 -Jj1 (d) cic1k cIc1 

24. ij- cq - — 

(a) (b) I;LlTT1T 

(C) f1- (d) cI1c) 

25. 4 (:) r 3t4IuI nr * — 
(a) cpu (b) airT 
(c)  (d) 31..lI1:1cp 
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Instruction for the Question Nos. 26 to 30: 

Read the following passage carefully and answer the following questions that follow: 

We in India have our own special problems. No one can deny that some of them are of a serious nature 

and must be attacked with vigour and determination. Our national objectives have been defined clearly. 

We aims at providing every citizen with the basic necessities and complete freedom to lead a life of his or 

her own choice. We aim to create a democratic society, strong and free in which every citizen, 

irrespective of his religious beliefs, will occupy an equal and honoured place, and be given full and equal 

opportunities for growth and service. We aim at ending untouchability and doing away with the present 

inequalities of status and wealth. We are opposed to the concentration of wealth in a few hands. 

26. This passage could most probably be a part of - 

(a) The Indian Constitution (b) A book on Political Science 
Lc) 

(C) A Speech D (d)  A Personal Letter 

27. According to the author our national objective o - 

(a) create unequal opportunities for all. (b) promote individual freedom and prosperity. 

(C) end economic prosperity in the country. (d) favour the concentration of wealth in a few 

hands. 

28. Pick out the wrong statement - 

(a) The problems of Indians are like anyone else's. 
L() 

0) 
(c) Some of our problems can be handled onlyi 

strong people. I 
29. The underline word in the passage 'vigour' means - 

(a) physical tension 

(c) loose temper 

(b) There is no uncertainty about our national 

objectives. 

(d) Our goal is to build an Indian free from 

economic exploitation. 

(b) forcefulness of language 

(d) force 

30. What is the synonym of the phrasal verb 'doing iaywith' used in the passage? 

(a) abolish (b) doing with 

(c) remain forever (d) create 
C\J 

31. Change the voice and select the correct passive voice from the given options - 

Someone gave her bull dog. 

(a) She was given a bull dog. (b) A bull dog was given to her. 

(C) She has been given a bull dog. to (d) She is being given a bull dog by someone. 

32. Fill in the blank with the appropriate word giveelow. 

The Air India concessional tickets these Jys. 

(a) is issuing (b) issues 

(C) issued (d) have issued 

Transform the following simple sentence into complex sentence - 

He admitted his mistake. 

(a) He admitted that he was mistaken. (b) He admitted to making a mistake. 

(c) He admitted that he was making a mistake. (d) He admitted that he had made a mistake. 
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34. Select the correct indirect speech of the given sentence - 

I said to him, "Let us go out for a walk." 

(a) I suggested him that they should go out for a (b) 

walk.
10 

0) 
(c) I told him that they should go out for a walk. (d) 

C) 
('.1 

3 Which of the following is correctly punctuated? 

What a beautiful painting did you paint it. 

I requested him that we should go out for a 

walk. 

I suggested to him that we should go out for a 

walk. 

(a) What a beautiful painting did you paint it. (b) What a beautiful painting -did you paint it! 

(C) What a beautiful painting: did you paint it? (d) What a beautiful painting! Did you paint it? 
0) 

36. Choose the correct word which is opposite in meatg of the given word. 

C) Recede  

(a) Rush (b) Advance 

(C) Approach (d) Forward 

Find out the misspelt word - 
It) 

(a) seize C (b) decieve 

(c) believe i2 (d) reign 
C) 

38. Choose the correct one which best expresses the ianing of the phrase of the underlined words - 

I am like a cog in thewheel of this company. 

(a) a technician (b) the least paid employee 
10 

(c) an important person (d) an unimportant person 

39. Choose the correct word which expresses the meng of the underlined word of the sentence given 

below- 

Deepak has a penchant for fine poetry. 

(a) Desire 

(c) Liking 

40. Consider the following statement and choose the correct option - 

The Dash is used - 

(I) To indicate an abrupt stop or change of thought 

(II) To resume a scattered subject 

(a) Only(l) (b) Only (II) 

(C) Both (I) and (II) (d) Neither (I) nor (II) 
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41. Find the odd one from the given alternatives - 

(a) AXCZ (b) JOKQ 
(C) TBVD (d) FRHT 

42. Blind and not blind is an example of - 

(a) Qualitative data (b) Quantitative data 

(c) Both (a) and (b) (d) None of these 

43 Which of the following is determined with the 

help of histogram? 

(a) Arithmetic mean (b)  Median 

(c) Mode (d) Harmonic mean 

44. 11 observations are arranged in ascending order. 

If 10 and 9 are respectively the arithmetic means 

of observation on even and odd places, then the 

mean of all 11 observations is - 

(a) 950 (b) 9.48 

(c) 945 (d) 8.63 

45. If the area of the base of a cone is increased by 

100%, then the volume is increased by - 

(a) 200% (b) 141% 

(c) 182% (d) 100% 

46. The semi diameters of bases of two cylinders A 

and B are in the ratio 3:2 and their heights are in 

the ratio n:1. If volume of cylinder A is 3 times of 

volume of cylinder B, then value of n is - 
(a) 3 (b) 4  

2 3 
(c) 3 (d) 2  

4 3 

47. If the radius of a cylinder is increased by 25%, 

then by how much percent the height must be 

reduced, so that the volume of the cylinder 

remains same? 
(a) 36 (b) 42 

(c) 58 (d) 62 

48. If both the square root and the cube root of a 

three digit natural number belongs to the set of 

natural numbers, then the sum of its digits is - 
(a) 9 (b 10 
(c) 18 (d) No such number 

exists 
49 HCF of two numbers is 25 and other factors of 

their LCM are 14 and 15. Sum of the numbers is - 

(a) 700 (b) 725 

(c) 750 (d) 775  

41. Jt {;1cf'c4i 

(a) AXCZ (b) JOKQ 

(c) TBVD (d) FRHT 

42. 31 .1 1cf)  \Ut t —  
(a)  (b)  

(c) (a)3t (b) c')'-I' (d) 

II 
43 &rr fi fT Rici f.TuT Ic1l 

c1I 
(a) i-ui nJ (b) 1IIIbI 
(C) cp (d) ç-1-c [JZ 

44.  

ZTf 10 L  9 P-tI:  Zf {r9 IT?t tR 3IT 

ftZ 1ic11Jt, 1T 11 
191w t — 

(a) 9.50 (b) 9.48 
(C) 945 (d) 8.63 

45. zff f IZT * 3I1T Zr -t "l 100% ç  f 
- 

(a) 200% (b) 1.41% 
(C) 182% (d) 100% 

46. c) c't'1' A tT B Z  3I11TZr Z c1I 3:2Z 

311IId * Zr€T[ 1cf) @ n:1 LjIc1 

*TT AcPI 3II'.!cll, *fT B ZF 3Iic1I Zfl 

3 lI 1, t n c —  
(a) (b) 

2 3 
(c) (d) 2 

4 3 

47. - C 

;) 1bcI 1Id -1I-J! IT II'H' flT9 

wr ii'-icii IIlc1 ? 

(a) 36 (b) 42 

(c) 58 (d) 62 

48.  

Zr I-1c'l -t'1 1 Ic1cb Z  

t, ?r si fr i — 
(a) 9 (b) 10 

(c) g (d) ci, 1 -klI 

49. bl HCF 25 * Z12.IT LCM Zj 3 

 143k 15*1 1l31 5T i * — 

(a) 700 (b) 725 

(c) 750 (d) 775 
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50. Choose the set of numbers from the alternatives 50. 1lc- 
which is similar to the set (6, 36, 63) - - (6, 36, 63) 'iii 

(a) (8, 64, 46) (b) (7, 49, 98) (a) (8, 64, 46) (b) (7, 49, 98) 
(c) (94, 44, 5) (d) (11, 111, 84) (c) (94, 44, 5) (d) (11, 111, 84) 

51. If the LCM and HCF of two polynomials are (x + 1) 
(x2  + 6x + 8) and (x + 1) respectively and one of 
the polynomial is x2  + 5x + 4, then the other is - 
(a) x2 -3x+2 (b) x2 +3x+2 

(c)x2 +2x+3 (d)X2 _2X+3 

52. If after selling 30 pens, the seller observes the 

profit of sell price of 10 pens, then the profit 

percentage is - 

(a) 3333% (b) 50% 

(c) 66.67% (d) 200% 

53. If two dogs start running in opposite directions 

on a circular path of diameter 7 m with the speed 

2.5 rn/sec. and 3 rn/sec., then how long will they 

take to be at maximum distance? 

(a) i second (b) 2 second 

(c) 3 second (d) 4 second 

54. If X men complete a work in 40 days and after 

adding 5 extra men 10 days are saved, then 30 

men will complete this work in - 

(a) 40 days (b) 30 days 

(c) 20 days (d) 10 days 

55. Three numbers are in the ratio of 3:4:5 and their 

HCF and LCM are 40 and 2400, respectively, then 

the largest number is - 
(a) 40 (b) 200 
(c) 240 (d) 360 

56. Assertion (A) - Interpersonal attraction is a part 

of social interaction. 
Reason (R) - It is necessary for survival. 

(a) Both (R) and (A) are (b)  Both (R) and (A) are 

true and (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false true 

57 Which communication network promotes an 

individual to communicate confidential 

information only with his immediate superior or 

subordinate? 

(a) Gossip - chain (b) Cluster - chain 

(c) Wheel - chain (d) Single - chain  

51.  r igc'1 * 1CM 3ft HCF pj: (x+1) 
(x2 +6x+8) T1T (x-t-1)t 3fr  'cp 

x2 +5x~4r, FT * - 
(a)x2 _3x+2 (b)x2 +3x +2 

(c) x2 -i-2x+3 (d) x2 -2x+3 

52. Ll{  l.cf  Iccii cP  30 cpjf *EE1 li4 10 cpc.V-l'l 

14 T 5T ffT c1I *, T 9TT T5T iRici 

(a) 33.33% (b) 50% 

(c) 66.67% (d) 200% 

53. if cp q) 71 c24t'1 ciicl cc1Jqk IT 11-v 

11ci fiift t 

c -ii ft 31Tq 

'I Iciii i-u-i e11'1 411? 
(a) 1cu (b) 2cu 

(c) 3cj,u (d) 4cu 

5& i1  X 31T 1 cf 419 40 fj1 I Cç * 
sR1cti 3ir1  iof t ld 

tth *, 30311 cI1-I p ctJ 
(a)4f (b)3fft 

(c)2of (d)io.i'f 

cll'i *ii31'f T Z3iiii 3:4:5* 1f ici HCF 31 

LCM iiI: 40 3fr 2400 *, r  rrr 

• 1*- 

(a) 40 (b) 200 
(c) 240 (d) 360 

56. 3T1m5r (A)— ciI1c1,  31icpI iiiiiRicp 
3clIfl 5T C) * 

(R)— -i s1lIkti  3iIciq *1 

(a) (R) 3it (A) )-i (b) (R) i3ll (A) i'i 
3 (R),(A) tcl *f5 (R),(A) 

 cqsj  

* cfr1I* 
(C) (A)'-lc'1*f5 (R) (d)  (A)Içc1*f5 (R) 

1lelcl *   * 
57. ii  f c1i r &rk 

3tt{ ZMfThW 3TT 3N 319W aItIt 

ñ'Thr c4-tI u1f c1I *? 
(a) iyq - (b)

- 

(c) tç  - (d) t - 
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58. Given below are two statements, one is labelled 

asassertion (A) and other is reason CR) — 

Assertion (A) — Oral communication is a useful 

channel of communication. 

Reason (R) — Because oral communication has no 

proofwhat has been communicated. 

Select correct answer using the code given 

belowt 

(a) BothA) and (R) are (b)  Both (A) and (R) are 

true and (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false) true 

59. lntern4onflict  that occurs, when people receive 

informon incompatible with their value system 

is knoas - 

(a) Cogntive (b) Environmental 

Dissonance Dissonance 

(c) Social Dissonance (d)  Political Dissonance 

60. Which one of the following is not a type of 

informal communication network? 

(b) Cluster 

(d) Circular  

 c3Tf2Ff(A) 

3 ) cJ'JI (R) ci!  l.?H 

&ftT5f (A)— Icb 1zI1 Cj) 4)  

*1 

ctI'i (R) — -u1{b -Il{cp '-tzlk cI cPI N4 

*, HCt)I W-1IUI -il clI I 

lII' if— 

(a) (A) 3Th (R) cl.rj'j (b) (A) 3I (R) 1i 

(R),(A) c1*i (R),(A) 

fc) rt1 I 'ci i I I 

(C) (A) Ic"-T t f5 (R) (d)  (A) Ic'1cI f;: (R) 

41c'lcl * c'-1 * 

3fRTftcb IIIcI, il fTfT Z cbkul c-'1 

r{3kic1Rc 1 t1.1ITt 

'lcii *, iii'ii 'iicii 

(a) 41Ic- 1cp 1*IR1 (b) 1cpu11. 1 -HI11 

(C) -{jc 1'(1i (d)   iI1 

60. jcj 4   cp fliRci 

tI  cI  *? 

(a) (b) 

(c) iqi'-i (d)  (LiRg.) 

61.  

(A) 3Th c) cf)IUI (R)  ii —  

&1-N (A) — - tlk tc1I 

* I 

iI (R) — ti1 {c-) (1.ciclI) 'c I1:i. I 

(r TiuT) i i i I 
? 3IcIlct' *1 

ifi  \31 

(a) (A) 3fr (R) c1'-i (b) (A) 3ft (R) c'1'i 

* 3fl (R), (A)   * fj (R), (A) 

c) Ht c1kslI cçlI fc °1Ns-fl 

cpdI* 

(c) (A) I-tc1 * (R) (d) (A) Ic'lci t fT5 (R) 

flc'icl '1c.T * 

62.  

1'1 3I4I Ct;) cI) CM c1)cPI T — 

(a) c.-i (b) cpu'j ct;) Cl-{ cp'-I 

(c) 4) '-'1ci' C)I (d) dVl * 

CI)I.lI [ZI fi'ii 

(a) Pro.jbility 

(c) GoD 

Given b$low  are two statements, one is labelled 

as asseition (A) and other as reason (R) — 

Assertion (A) — Clarity of communication is 

essential for effective 

communication process. 

Reason (R) — Because adequacy and timing is not 

iC essential for effective 
C 

communication process. 

Select cprrect answer using code given below - 

(a) Bo1fj(A) and (R) are (b)  Both (A) and (R) are 

true nd (R) is true but (R) is not 

correct explanation correct explanation 

of(A) of(A) 

(c) (A) is true but (R) is (d)  (A) is false but (R) is 

false true 

62. Select one alternative from the following, which 

is not a way of dealing with rumours - 

(a) Providing facts (b) Reduction of causes 

(c) Use of reliable (d) Concealment of fact 

sources from leaders of 

community 
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R1id cp"l jU: 21J:f 1~l,i 

(b) 614 

4IcI t9 (d) jqq • cpJ -i 

iRi1ci ct)-j *ik , L.cb M'hiIf1cp 

(a)  cc  (b) WT t IcPi 

63.  

{1c,1ci fT? 
(a) 

(C) 

C 
0) 
IC) 
(0 

(c) [Icb UJ (d) 3Jpfl *ic:iui 

69. U1 TE 5r 1  * I 4)r Icl 3:I iici  

r 1i c,  cti *? ii ctj, 

"ctl cI 5T zJIz1I * I" 9Th1 ?151 

(a) fI (b) 

(c) cc (d) rr 

70. L[ 31 9Jz,  2008 cp  -u11k *, 31 4-1ItL 2011 

ct) i-*ii 1i ii? 

(a) (b) ic  

(C) q1cji (d) iPcii' 

U) 
c66. 
0) 
10 
(0 
C 
('4 

65. 

IC68.
___ ____ 

(c) *izn' 3i1cii*i (d) 

'1tIk 1-H'e1 k {ziii cl)'I ;:fkvr   c 
q)'l f 'iii'-ii '311d1 
(a) 3T9Zf (b) 4)qu 

(C) ccicp.<ui (d) tr 

k .i1i * ik1ci c1ct11 ct . ci 

2Tft1 - 

(1) 

(2yr 

(3)  

(4yfi 

(5) Ri1 

(a) 1, 4, 2, 3, 6, 5 (b) 1, 2, 3, 4, 5, 6 

(c) 1,3,4,2,6,5 (d)4,5,6,1,2,3 

i(t1s fc'].j 1T5Tc1cti -l*? 
(a) (b) cri-i1ci 

(C)  (d) &r 

t9TT (1NJ4¼Jj)  itfr * - 
(a) 3{c (b) cfl1q) *i1riu, 

63. Originally who developed the concept of 

'Transactional Analysis'? 

(a) Joseph Luft (b) Eric Berne 

(C) Harrington Ingham (d)  None of the above 

64. Which one of the following is not a psychological 

barrier in communication? 

(a) Bodily expressed (b) Premature 
message evaluation 

(c) Distrust in (d) Inattention 

communication 

65. In the communication model, the process of 

putting the ideas into a message is known as 

(a) Persuasion (b) Encoding 

(c) Decoding (d) Interference 

66. Arrange the following elements f 

communication process in correct sequence 

(1) Source 

(2) Channel 

(3) Receiver 

(4) Message 

(5) Feedback 

(6) Noise 

(a) 1, 4, 2, 3, 6, 5 (b) 1, 2, 3, 4, 5, 6 

(c) 1,3,4,2,6,5 (d)4,5,6,1,2,3 

67. Which one of the following is NOT a component 

of listening? 

(a) Sensing (b) Evaluating 

(c) Responding (d) Persuasion 

68. Paralanguage is related to - 

(a) Interpersonal skills (b)  Verbal 

communication 

(C) Non-verbal (d) Downward 

communication communication 

69. Shyam is friend of Ram. Pointing to Manish, 

Shyam asked Ram, who is he? Ram said, "His son 

is my son's uncle", Manish is related to Ram as - 

(a) Father (b) Father-in-law 

(C) Grandfather (d) Brother 

70. If 31St March, 2008 is Monday, then what day 

shall be on 31st  March, 2011? 

(a) Sunday (b) Tuesday 

(c) Thursday (d) Saturday 
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71. Which one of the following years will have the 

same calender as of 2009? 

(a) 2014 (b) 2015 

(c) 2016 (d) 2017 

72. Refer to the statements given below — 

I, All boys are truthful. 

II. Kamal is boy. 

Conclusion — 

(1) Kamal is truthful. 

(2) All truthful persons are boys. 

Select the correct answer using the code - 

(a) Only (1) is correct (b)  Only (2) is correct 

(c) (1) and (2) both are (d)  Neither (1) nor (2) is 

correct correct 

3 There is a clock, that is 3 minutes late on Sunday 

at 2 p.m. and it is 5 minutes fast on Tuesday on 

2 p.m., when did the clock show the right time? 

(a) Monday 10 a.m. (b) Monday 8 am. 

(c) Tuesday 2 a.m. (d) Tuesday 6 am. 

74. The relation that is there between 6 and 16, 

remains the same between 12 and  

(a) 23 (b) 29 

(c) 34 (d) 42 

75. This is a number series given below. What will be 

the next number in the series? 

1, 0, 5, 8, 17, 24,  

(a) 37 (b) 35 

(c) 33 (d) 31 

76. Statement : College students should be 

restricted from participating in 

political activities. 

Argument: (I) Yes, college students should 

concentrate on studies. 

(II) Yes, colleges are becoming battle 

ground for political parties. 

Select the correct answer - 

(a) Only argument I is (b) Only argument II is 

strong strong 

(C) Neither I nor II is (d) Both I and II are 

Strong strong 

71. f - i t5T c4  4)1  c4( 2009 cf)  çj' 

4)1 

(a) 2014 (b) 2015 

(c) 2016 (d) 2017 
72. 

I. rr 4Ic'14) ' -1cc4I) * I 

II. cp-Ici lIc'i4) * I 

(1) cP1ci '1cI4') * I 

(2) T41 ',- cL4cTl4) 6Ik'14)  * I 

f I L c4c 15T 1T 4) ' c '3c1 

(a) cc  (1)Tt (b) cc'i (2)T * 
(C) (1) 2TT (2)  (d) r i1 (1), 9 ) (2) 

73. cp t 'R1c1I ') 2 

-Hlc1clI' 4)') ')'.' 2 5 frr 3ITt *1 

 4)l  

(a) -s')1I 10 6T (b) 8  

(c)  2 (d) 14ljI l- 6 s1' 

W-T 6T 16 *, T 122fl 

(a) 23 (b) 29 

(c) 34 (d) 42 

75. &ET 3cI * I 14)I &Trr 3T cIf 

fTT "I 11i? 

1, 0, 5, 8, 17, 24,  

(a) 37 (b) 35 

(c) 33 (d) 31 

76. 4)IciI T?5 Ct)') 'll4)RI4) 

I11T  MI?ItIcI f5R1T 'slIll t4If I 

cIcf: (I) T, cj  * ct)') 

t .-tI tIl1'. I 

(ll)T, cPIcj1 'Iill1icP cc't') '.iii cpI 

r9 5TT  *1 

'j1 5T tiI Ct) - 

(a) cc  c1cf I (b) ccç dc II 1- ;T t 

(c) cict I 9 II(d) c'l.-'f li.ci II -ci- * 
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Arrange the following words in the meaningful 
manner — 

(1) Train 

(2) Car 

-i11c1 

(1)c'f 

(2) cpf' 

(3) Cycle (3) 'thIc1 
(4) Bus (4) r:r 

(a) i, 2, 3, 4 (b) 3, 2, 4, 1 (a) 1,2,3,4 
(c) 3, 4, 1, 2 (d) 1, 3, 4, 2 (c) 3, 4, 1, 2 

78. Anuj is facing North-East. He turned 900  in the 78. 5T 

clockwise direction, then 180° in the 

anticlockwise and then another 90° in the same 

direction. Which direction is he facing now? 

(a) South — West (b) North — West 

(c) South — East (d) North 

9 Select the related number from the given 
alternatives — 

4: 17 : : 7:? 

(a) 48 (b) 50 

(c) 51 (d) 49 

80. Find the correct alternative from the following — 

Glasses: ? : : Bicycle : Unicycle 

(a) Monocle (b) Pedal 
(C) Mirror (d) Face 

81. Who has said, 'Decision making involves 

evaluating alternatives and making choices 

among them.'? 

(a) Rathus (b) Santrock 

(c) Baron (d) Matlin 

82. Inductive reasoning is based on - 

(a) Specific to general (b)  General to specific 

principle principle 

(c) Both type principles (d)  None of these 

83. Algorithm is a type of 

(a) Mechanical solution (b)  Heuristics 

(c) Rule of thumb (d) Means-end analysis 

84. Functional fixedness produces  in 

problem solving process. 

(a) Facilitation (b) Blocking 

(C) Partial facilitation (d) No effect 

cp') if 

(b) 3,2,4,1 
(d) 1, 3, 4, 2 

i'&-c1 0c) 3r l 'l 90°tT 

F1f, 1b 

(a) f jv — (b)  — 

(c) v —  (d)  

79.  

4: 17: : 7:? 

(a)48 (b) so 

(C) 51 (d) 49 

80. 1çj   f1cp& 5T 4'1 — 

:? : : :  

(a)  (b) 

(c) 1t1T (d)  

81. 'Piu1ii f ici i:ji 4 N -f 

ETt z4j c1l * I'? 

(b) uq 

(d) f 

82.  çc 3111T1r * — 

(a) 'th9I-4 (b)  11 

Ricic1 tR 
(c) c.-j MclN 1 c jçj(d)  c' jf 

83. — 

(a) ff (b) ç: 

(C) ccjJ1q) ffzp (d) 9—TVc74  fu 

ft.T1T 1 9t!.1I 

 5th *1 

(a)  (b) 

(c) jfcp *tL1c1I (d) F1TT -t) 

84.  
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If a subject attempts to solve a problem on the 

basis of his past experience, it is called - 

(a) Transfer effect (b) Confirmation bias 

(c') Mental set (d) None of these 

86. For one possible solution after another is tried 

until a successful one is found, is called - 

(a) Insight (b) Guess 

(c) Trial and Error (d) None of these 

87. Which one of the following is not used by the 

people as a method of problem solving? 

(a) Heuristics (b) Algorithms 

(c) Trial and Error (d) Functional Fixedness 

88. Which one of the following methods of problems 

solving gives guarantee of success? 

(a) Heuristics method (b) Algorithms method 

(c) Backward method (d) Planning method 

89. Which type of problem was used by Kohler in 

problem solving? 

(a) Verbal material (b) Detour problems 

(c) Puzzle box (d) None of these 

90. Which problem task is not used in animal subjects 

among following? 

(a) Puzzle box (b) Detour problem 

(C) Anagrams (d) Double alternation 

problem 

91. Find the missing number in the following - 

2, 3, 4, 6, 6, 9, 8, 12, 10, , 12, 18, 14, 21, 

16, 24 
(a) 21 (b) 9 

(c) 15 (d) 16 

92. Anoop and Sunil are ranked seventh and eleventh 

respectively from the top in the class of 31 

students. What will be their respective ranks 

from the bottom in the class? 

(a) 20th and 23rd (b) 24th and 20th 

(c) 25th and  215t (d) 26th and  22nd 

93. The missing letter in the sequence 0., N, K, ?, E 

is - 

(a) L (b) H 

(C) j (d) p  

85.  cp l'' ft *Ii-kI 5T 1Thfl9 3Tk 

311.1T tR cp  F5T MLlk-1 cp'çij 

 c 'ilicil 

(a) 3j.ui rnr (b) t)cul tratrrr 

(c) 4lhlRlcp 1a4I'(1 (d)  c'1 r1 

t 9TZT T91T1 iiii flQi c1cp 

n M4k1 cPIi  cPi ilIc1l I 

(a) (b) ij 

(C)  (d) ri ci1J ii 

87. fj{ç qii'9i cp '(IWfl '91WT 

li -uli ti.H .siicii 

(a) c1: tlT (b) 

(c) M.iI t (d) qç--jcp frii 

8 11i wiii {i11ci fiit 

cp flf.T lc1l ii k 

(a) c1: vftr fj (b) tñftTr f1r 

(c)  fifi (d) Ii-ii ffl 

89. •iiI P11TFF Mcti' fl 

ii-.i i 5T [PT frr 1 -i 

(a) fcci, mt4't (b) zi tQT 11I 

(c)tI* xti (d)T c'  .  

q 1ii1bci cf1 1T 141ic9cP i4 

frt -ii f5RiT ltciI 

(a) C) i.jti (b) qT  

(c) t. -1.Ilf (d) 

'd11 I' 

{iIi1i Fkj,'.ci isii uc1 — 

2, 3, 4, 6, 6, 9, 8, 12, 10, , 12, 18, 14, 21, 

CD 16, 24 

(a) 21 (b) 9 

(c) 15 () 16 

92. i cp T 31 ' 

ct'9I: '1ic1lI 31 It1j t I T5T 

\i1'Pi l: (Nil 

(a) 201T 3Th 231T 

(c) 25Z11 21rr 

93.  

(a) L (b) H 

(c) N (d) p 

(b) 24IT 3f 20E1T 

(d) 26IT 3t 22Tt 
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Choose the number pair/group which is different 94 3fl5 cp' t
- 

from others - 
(a) 8:25 (b) 22:67 (a) 8:25 (b) 22:67 

(c) 18:73 (d) 15:46 (c) 18:73 (d) 15:46 

95 A and B are brother and sister respectively. C is A .IT B i-i: .3ft 11 * I C, A T fii; D, 
father of A, D is sister of C and E is mother of D, c E, D Tt ?t t, it B, E 1 fi [E5T 
then how is B related to E?

itfrr *? 
(a) Grand daughter (b) Great Grand 

daughter (a) t.ulc.Il (b) 

(C) Aunt (d) Daughter (c) rr?t (d)  

96. If in any code language, LC is written as 6 av TE 96  fI q)'1S ]TqT , IC cp'I 6 fT TE r 10 
is written as 10, then what will be the code PD fRT 'IIciI *, cp'  1TqT PD T q'1 
in the same code language? ci  
(a) 12 (b) 9 (a) 12 (b) 9 
(c) 8 (d) 7 (c) 8 (d) 7 

97. A train of length 140 m is running at a speed of 97 140 11t P4 ct'II) 60 4t/u  cf) 1ei 
60 km/hr and a cat is running in the same IT ') * ct fe4l 31I fïi iii' 
direction parallel to the train at a speed of *111I.li vr 18 1t/Ju~ c  tIc'I 
18 km/hr. The train will cross the cat in - *1 elIt' fc4 t cp' - 

(a) io seconds (b) 11 seconds (3) (a) io (b) ii 
(c) 12 seconds (d) 12! seconds (C) 12 (d) 12 cjtJ 2

L 

LU 

99. If a + b = + , then the value of a2  + b2  i 99. a + b = + , a2  + b2  15T 919 * - b a b a 
(a) (b) 1 CD (a) (b) 1 
(C) 2 (d) 8 (C) 2 (d) 8 

100. If E = 5, AMENDMENT = 89, then SECRETARY s 100.  E = 5, AMENDMENT = 89 , SECRETARY 
equal to 

- * - 
(a) 114 (b) 100 (a) 114 (b) 100 
(c) 115 (d) 112 (C) 115 (d) 112 
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98. Find the correct alternative for the ming 98. 1? tr fr rt c-t& 1Ict 11.;lk. - 
term 

- ABC, 6, EFG, 210, IJK,? 
ABC, 6, EFG, 210, IJK,? 

(a) i000 (b) 190 (a) i000 (b) 190 
(c) 990 (d) (0) 990 (d) 999 
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